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1.  When a stationary bus starts to move, the. pasgengers experience a sudden backward push.
What is-the reason behind it?.

(A) inertia of Motion - M Inertia of Rest
(C)  Potential Energy . ) Kinetic Energy :

'rf;ima)u_lrrm (BLJ@!_F@J Qm@r{m @ua;a;uu@m@urrgd uu_laﬂfﬂasm @m@mn&asﬂ sareniu G priser. @ e
Aememamtludich o efrer ghgyeuld wirg?

(A) Qués flenew 2 piblod ‘ (B) g,éu'_leu Hlenew 2. mIpiod
©)  Hevwmar Sppoe (D) Quéswppd
2. Choose the correct option which differentiates a vector and a scalar

(A)  Both are the same . . o
‘ y Velocity will have both magnitude and direction. But speed does Iic_at have directien
(C)  Velocity will haife magnitude only. But ‘speed will have both magnitude and diirection
| (D) - Both are not comparable l o

&G Ga;rr@a;a;uuL_(Qerra‘r Gurrasaﬁlu_:m]aa@a'r @m&@euasg,@g,um (BGLIB;Q’;G&)Q’)U_]LD CeumiiBdgd aflwire
aurgslwgeng ConhQsH s

(A)  Geusqapd, HensGeaugspd genGn écb@th . _ .
B)  HaosCGeussdnG | <HaTay LD Hepsjib mgluiS]'L_uLJ@Lb: et CeussdpE  Hevs
w A G eudleensy T o
' (-C) Slens Causssn @ sieta| LLEHD 2.aw{h. GCeaussHn@ tamey, Hevsujd LHINLLLHD .
D) Ceausapd. HersGeauspd GUAL WP LTss .

3. A circuit i"equired tb produce alternating current of desired frequency is
. (A) Transformer ‘ T (B)' Power supply
(©  Amplifier - | M Oscillator

wiry Hleng 8lanGanr_L_geng @GOILEACL. Siene Gmavrramﬂsu 2 L& @g,m@mﬁmi@tb &SMHm
(A)  Aémwrmol (B)  NGsad
© B Quusd o (D) ienaaf]
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4. ‘What are ‘cutlets’ which are used in glass industry?
. (A)  Colouring agent {#

_ _ ‘Broken glasses -
(C) China Clay + (D). Naz0.6Si0:

aawemily. Ggmfbhemenaulie LweaTuiib ‘s Qal. eremug) eranea?

A4  Fpd ' ' . B coLps sawanry fogser

Q)  osemmaefiwer .. (D Na:0.68i0 | '
5. Whaf is the oxidaﬁon state of hydrogen in LiAlH,? |

@, 1 - . @/ -1

© o R o -2

LiAlHa 6 2. girar aan_ymefier 2A&HRCeanhD ereqr cremen?

W o o ® .1
© o | | o -2

6. The aprotié solvent is ‘ S
(A)  H:0 (water) ' - (B) CeHs (Benzene)
\(f HF (Hydrofluoric acid) - ‘ (D) NHzy(Ammonia)

UGy mLmedr STyTé SeniyliLime Tamig)

@) HO0 @y - L (B) CoHs (Quandan)
L (©)  HF (oan Gpry@siis siden) (D) NHs (eunGorafiun)
7. . The unit of Specifiq resistance is ‘ - o
w Ohm cm o o . (B)  Ohm-' cm: 7
(€ Ohmem! (D) Ohmcm

ﬁu_lw L(S]th,ml__uﬂls'irr DG .
(A Obmem - . . (B) Ohm<'cm
(¢ Ohm em-? o : 3 Dy Ohm-1 em™t

~pEOP - s



"10.

Asymbiotic bacterlum capable of fixing atmospheric mtrogen

(A) Rhizobium - 7 MOIOstrldlum ’

(C)  Agrobactérium =~ (D) Staphylococcus

Sl QUi iderg cuefloaim_cdSlaidrer BT enest ﬁmsbuu@ggul;b @g)an Gupw ungleflwub

(A)  apGsmIuib - : B (B)  Slermevg figuid

(C)  =&Cururélefuid .. ' | (D) aoL e IGeomardsen |

During centrifugation which one of the following will settle .dOWI_l last .

(A) . Chloroplast - | ‘ q{ Ribosomes
(C) Mitochondria : (D) Nucleus

>

Centrifugation GauiybGunpg Spsan_cupdd e saL-dlurs settle.=us sy ws;

(A)  ECamCGrmIamrevi_ - (]l3)‘ ﬁ@uﬁ@&mbeseﬁ
(C) . e G srerm_Mwr ' D)  Flyseflwev

»

The principa] function of centromere is

(A) Chromosome splitting

(B) Formation of spindle fibres
(C)  DNA duplication

M Movement of chromosomes to poles

Ggem_ Grmdlwiflesr (y)g,dnsmmﬁ u%ﬁﬁﬂmrr@ﬂg

'(A.) @GrrCGurGemb Aeraymised

(B) sfrsCGared GQenpser 2 (Geundsd
) L @76 6T. BP9 LIUTSHE
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11. A hormone which is reSpons1b1e for fr1ght fhght and fight.

M Adrenahne _ 7 ‘ | . (B) Somatotrophin

(€) Oxytocin -~ | : (D) Insulin

Slle T LD, UTGISTILESTE e(HSe DHMID ésﬁmmﬁ&@g@;ésa;nm'@jﬁ@mqéﬁ gy ?

@ e fadar. o ®) @gn@‘mn@m@gn@m
© opselG e | o Genacdlan
12. ‘Which of the foﬂoWing statements is/are correct régérding blood volume in human be_in'gs. ‘
1. In adult human béing the total volume of blooa is about 5 litres.
2. The airerage Vc-)lu-me of blood is calculated on .weight bégis. :

3. In human‘ beings approximéfely T_Q ml of b_lood for each kilograrr‘l of bbd)'} weight.
Select the éorrect answef using the.co'de given below. .

@& lonly - " ®) 1and2only

(© 2and3only | MLzandS

‘£ch®asn®s;a;uup®mm Gurraaa‘)]ug@«su LDGDﬂg;@lGd’)I_UJ @rjgg ey eTemLgled. &ﬂurraﬂgj aﬁ]eml_mm_

ng@@g,@asasmm
1. ' LDGb‘ﬂg,@Jem_u_l Qrgs Qrss sarey srmafluns 5 G!S!I_LFF @@a&@m -
2. - wallsgemL ErHs Siemey EU‘J’TEIﬂ 21 GFWLUQG&@‘@@ sams;aﬁlpuuﬁjaﬂmgj

3. welseenl W GIés Sierey e L6 erentufe 1 a‘i\GGurra‘é\r;n@&@ &rjn&rﬂu_lrra_; 70 ml @irssb eren

samsS_LUREDS.
A 1wl@w : B) 1 whmb? wlGHb
(@ 2opph3elen D) 1.2 whmb 3
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13

14.

15.

' The sgminiferous tubule is the supporting cells are cells of specialized functions called

cells of sertoli ‘ -(B) cells of labules
(C) . cellsoflegdig _ . (D) cells of scrotum

<}, 601 @mu@u@a;as 2 mlle @&L&@ﬂ@u@u @&@@J&E@ LSSLIGDNS @@&3&3 Foulg il ‘ﬂmuq ueafﬂassmerr

Qalinsamiq s Cewaer ‘
(A Qer’ GLie Gamaer - ® em@eum'egmm |
©)  MowsQsdser - L D) elmst@uuden 2 e Qedser

The objective of conservation of BlOleBI“Slty

1. Tao preserve blodlver81ty
2. To preserve genetlc resqurce.
3. To manage the natural resources

~ Select the correct answer using the code given below

@& lomly . - 1 and 2 only
() 2and3only - , D) 1,2and3

"o ulfan LGTEnLOEL GTevaITm) ast_@u(;)gg,eum_b.

1. 2ulfler Quasssons s OULOSESD.

2. | LO@QIUIRIER Il LIRS aT LITGISTSHE.

3. | @mg’)ma;-meﬁréuassmm (lﬂr'reurraﬁ]gg,ei) o

ﬁ@m@mm@mgﬁ]m Grg,J aif T Gg;rrg@g)@aaa;

(A) 1l G, C(B) 1 opmib 2w |

(C) 2 whmid 3 i | _ D) 1,2whmb3

L

What is the characteristic features of celour-blindness * Given below.

(A)  Absence of rod cells in retina ‘ Absence of cone cells in retina

(C)  Absenceof lusture in lerls ' © (DY Lack of colour pigm_ents in the Eve

BIn&@&me dhudeisn@ Sryammd ' .

(A) @i;rL'_Lgrafrrraﬁ]Gb T Qaed '(@Gbeurrg,g,rreb - (B)  Qplwgenefdy Garen Gee @Gﬁ@ng;g,neb

(C)  Qevandled FTLLISD EETESTED (D)  sarsaia HnbiseT @earsemed -
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16. The —— —river rlses from the plateau of Amarkantak of Maikal Hills of Chhattlsgarh

(A) Sharavat1 : . M Narmada -

(C) Tapi (D) Mahi

sl eavaflen SioisaT_é 5L yfdgidrar enasre m@msdﬂaﬁ]@ﬁr@] 2 (HEUMEHLD <M

A s B s
©  sud D) wa
17. - Alluv1a1 soils have generally a low mmeral content of

M Nltrogen phosphorus and potash ~

(B) Iron oxide and mtrogen | )
l(C) Phosphate and potash

(D) . Alummlum nltrogen and potash

cuaL_& Lo, Qungleuns Aeieu (L aThs a;suﬂmréssasmm.@mg)eyrraaé; Garmar(h dreng?
(A ‘GU)‘EI'_U"QGE&T, LITEuLI e mﬁ}gjjtb Glu'rn"_l_rra'sp | | |
(B} @@y 4B ® LHpI> wbﬁua@’m |

(©  urebGuL wpmIb @urerrra'éF '

(D) . é@;@@ﬂum,@gf_gamLD,ri)QJLb@LJrn'_l_rra'q: o

18. The soil derlved from the Deccan trap Wlth high mmsture holding is, called
RV Alluvlal_soﬂ - : J Regur. soﬂ
(C) Red soil ) | : ) Laterite soil

- g;aaa;rrsm S uileti(mb ) L&@Eg FTSSEEnLD HIThl@D Smer Csmeim_ oaRT
(A eueRrLé) T : ‘ v (B) Glga;ﬁ L&

(C)  Aaulywer : ' (D) Sy enerT LDehT
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Match the fqllowings :

(a)
(b)
(c)

(d).

. ‘- (
o4
%))

©

(D)

EGy QsmRésiL aupenn G]urr@gg,]as.

@

(b)

(c)

&

(A

(B)

©)

(D)

_Bird Sanctuaries

Ghana

Ranganthitto.o :

. Vedanthangal

Malapatti

A B . ©
2

1 4
3 2 4
4 3 1
R 2

LIMENGUEET STaTTEWILD

A

- Raser S
GeuLengmhigHe
Lorrel)rrul_'_q
(a) (b) (c}
2 1 4
"3 2 - 4
4 3 1
1 4 2

2

3

State
Karnataka

Raj' asthan

" Andhra Pradesh." '

Tamil Nadu

LDW@GDLE)'..
FBIL&T
@gngdﬁé’,ﬁéﬁ o
Y08 ﬁl;r(?g,ﬁb

5@@ BB
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20. The onset of the rn'onsoon-'tdwards the end of may is in ‘ and . Islandsr.,
| (A)  Over Western ghats and Srilanka =~ . | | |
(B) . Eastern ghats and Malaysia T : )
A M Srilanka and over Andaman-and Nicobar Islands- _ ‘
(D) Lakshadeep Islands -« - | - _ T

Gw ong @@J}Qﬁ@) Lnrrsm@:,m %ULDLCJ]&S@LD U@GSaer (LPEED @Jébrjegb@m

A)  CuopE@AsT_TE DD Blevmienad @b @Gm:_@u_v

- B ai]@aa@ Qg,rrur&eﬂ LOGR Q& (& 1D m@sné]u.zrraﬁ]m@-’,m @@m_@m

| € @mmma;a;@m LHEILD é{pg,mrrm @a;@a;rru i ﬁ;m&@&@ Een_Gw
(D) aLng, 5@5@5@ GG

- 21.  In which state the ‘Krishi Mahotsav’ is bein_g organized every year?
‘Gujarat . (B) Madhya Pradesh . -
(C)  Uttar Pradesh © .. (I Jharkhand

‘@@JQQJITQ‘D a_l@l_@m aﬂ@a:ﬂ LDCS@Lr)m_&FaJ G}aarrswrs_rrl_uu@m orfleh?

(A)  Gns | ' B wiHwArGsed
© 258y GyGsen - (D) gmuisenl
22.  Karnataka is the leading producer of ——— for about one-fdurth of the total production

of the country in 2006

(A) © Coal ) _ . : (ﬁron ore

(C)  Copper _ - (D) Manganese

20061 patrig 6 @Eg‘,]mn@ﬂe‘m ;_r;rrsura%]cn 1wk @Lnrrg,g, —— 2 pugdide sTpTLE wIBleD
APBHTDID auflsfammg,). 7 _ ‘ o

(A dess o S (B) @@L’DL\ ) ’ e

(C)  Gaby A (D) Cordisellay
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3.

24.

25.

- N

In the upper Ganges valley and Indo Gangatic plain, Iron is first found in 800 BC and its '

culture is associated with

* Painted Gray ware B - (B) Black polished ware

- {C) Black and Red ware _ (D)  Ochre colored ware

Gwéd aaréjcss;as_ LIGTETS 5 T &S Lﬁg_i)gij @{r_’sgj‘—'a;r;.‘sma; s10Qauafiide @g@@gmm @by 800 BC e

sy SHUILLLg). @55 ,@@Lbu. FHETFFTILD sig.)aarr@[o G FOUBHD &Gml;ujg’

(A smbuéd GUERTEHT GUTEmTLD Bﬂq_l urewr  (B) a;@i'_l‘l_l LITERTLD

(C) a;@ﬁq wmHmnih Heudiy Bip LD (D) v euaTerTLL LW UresTLLb

In Indus Valley Civilization the great granary found at Har‘apba n
(A)  West of the: citadel - - MNorth of the citadel

(Cy Eastof the citadel ‘ _ o (D) "South of the citadel

| .

'é]gbgj s10Qaua gwa;rﬂa;ggﬂa) gmguumﬁ]c;u &m@mﬁ]q&&uuuﬁ g,rrauﬂua; rfﬂL[BJ@ <SIEnLOTh Gl ererr @LLD

(A) (BGSFFI_GDI_US]GGT (BLD[D@ u@g‘,] | (B) (Basrrl_am_ufﬂsm QULEE UGS

C) . Gam_epLuQen aﬂi@a;@ WL _ ) Cgaém'—@l—ug],@‘ Qéfb@") LGS

‘Which of the following Buddhist work is songs of the sisters?

(A) Dastisikkhapadda - (® Patimokka

©) Vinayapitaka - | M Therigatha

&ip g.‘l;ruu C_(pérar (r_r,frs'mélab GTj'i_-')g.-I_|(5:3§_'; e ‘#Gamsfsaflan ur_daar? ‘ :

(A) g;gfv@é]éa&ugrr . I (B) Au;f,]@mrré;asrr

© fpuSist . (D) Cafsgr
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26.  Arrange the following events in choronological order
’Foundation of Khalji dynaéty '
Death of Raziya '
Alau d-din expedition to Devagiri
Creation of dep aftment of Diwani-Kairat . o
2-1-3-4 .., B 3-1-2-4-
1-2-3-4 ' - D) 4-3-2-1

— NSO VR N S
o

- Epbaam_ Blepeysmer sme mrﬂiﬁm&ﬁju@g@&

1. 'ﬁﬁb@ aubssens Blmefwieur o

2. rdwmedar Gmiiy . : o
- 8. sjaneydlen Hoguiler Gaeudlfl e Qu@Eoy -

4. SHlaurefl ma;qnpgj@g)&@mrré;a;m‘ :
(& 2-1-3-4 . B) 3-1-2-4
C) 1-2-3-4 o D) 4-3-2-1

P

27.  Match the following :

Persia traveller

(a) = Ibn Battutah - 1.

(b) Abdul Razzak 2. Moroccau traveller -
(¢) . Nikitin 3. Portuguese traveller
“(d) Nuniz 4. - Russia traveller |

o (@) (b) () )

‘ 2 1 4 3

B) 1 2 3 4

Gy 4 3 2 1

™ 3 2 1 4

QUmBESS : .

(@) @derugis 1 Lmrds Lwenf]

(b) e-,nl'_@]e'ﬁ TS 2 wEyrsaT ;_r;rn_'_@u LI Lieuef}
© Bédlgar - 3. Gurisssfu Lwe
“{d) g,net;ﬂefu 4 meip Liwieuf
. @ ®  © (@

@w 2 1 4 3

(By 1 2 3 4

©) 4 3 2 1

D) 3 2 1 4 .

‘DEOP 12



28. Who was representatwe sent by the Justice party to the' Round Table Conference?

(A) Iyothee Doss .7 ' ) M A.T. Panneer Selvam
(C) Mardimalai Adigal = : (D) M.C. Raja

$8& s Sule Ardfldwns @l L Guams WOFBIL Lo 6) He0EE CETeanTL 6T wimrm?
&) oCusd s . ® AT Lidnafir Qadbauis
Q. LDEDHLOMED ilg HET (D) M.C. I;rrrgrr

29, " Who was deéscribed as a “Sulténised Englishman™?

\9{‘ Sir Thomas Munro - (B Sir William Jones
(C)  Sir Charles Wilkins (D) - Sir Charles Wood

savgraiiu %f'ajélGGo'u:;fr Tt &(ThGLIL (RILiGT Wiy

(&) si gmosv wanGyr - . (B) s eSd@auib Cgrana
(C) & amiteveiv eflcoflanian . D) & a6 2L
30. -J awaharlal Nehru 8 behef on soc1ahsm is based on—— of the fd]loﬁvirig

\M. Combmatlon of Democracy and civil r1ghts
(B)  Equitable distribution of higher income
(C)  Greater equitable opportunity
D) Social justice

seuanieone Crmedan Garsedsnd ug)g‘)]u_s 5!.0195;65)55 EQGip g,uuul_(gmmajg)gﬂa)

<Silq LILIGD LTS G]a;rrswrl_@

(A) ;oé;a;aTnLé]uLB Glgenio zu'ﬂmLDngb BB
B) - FOLONE I_IBca}I_:l"r_i’;,&";-G!ﬂB‘BBBI_'.EI_lI-_L__ 2 LT GU(HLOMENTLD
(C) ugeseme &LDGIIFTU'_IIL-II_&

D) seps 4

oo ' \ o . 13 : ~ DEOP
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31. Match:

{a) Agaricus bisporus 1. Milkylmushroom_
| (b) Pleurotus flabellutus | 2. Button mushroom
(c) .Vol_variella valvacea 3. Oyster mushroom
(d) Calo‘cy-bé indica 4. Paddy straw mushroém-
() (b) {c) (d)
\(/ 2 34 1
(B 2 4 1 3
© 2 14 3
o 1 o 3 4
Qurcssgis:
(‘a) s faa mLCL e 1. urrsblasrrmrrsirr-
(b) Qe Grm s IS]GTTFFQ-LJG:OGGDLL_-G"[D -2, UL 6 Srenmer
() ‘aJrrei)(Beu_rrrﬂqubmrr Gurr@b@@uﬁqur,_ _ 3. S09& srerren
@) ‘CsCaremsd @G&GTLQ_GSFF o 4. . eeusCsmd a;rrcf;rrém
@ B - © (d)
A) a3 4 1
® 2 41 3.
© -2 1, 4 3
D 1 2 3 4

- 32. Psephology is the stﬁdy of

Local governments

' J Electlons

Qs sece0edl’ eTemLg)

@

(O

DEOP.

o érerml_gl

Caiged

(B) Disasters:

(DY Constitution

bl u!lq_I.Jl_IIT@')L'D. '

(B) _@urﬂl_r'r

D) oipfuid sremn

14



33.  In which year was the first Lok Adalat held?

(A 1985 - : 1986
L(© 1987 . R (D) 1988

‘@p'g,ei) Coorés Qé{gnsog BenLCubm e ore)? _
(A) 1985 ' ‘ o (B) 1986

S (© 1987 | (D) 1988

' 34.  Match the following :

(a) Theocracy 1 Switzerland -
() Secularism | c2. China
. (©)  Direct democracy 3. VIfan -
(d Communism 4. India .
@ O © @
@ 1 3. 2. 4
® 1 . 2 .3 4 )
© 4 3 1. 2
v 3 1 1 2 |
&Q$$6&NL@@®@ Gurr@ggjas : -
(@) sibw oy d L1 secstenps
' (b) mg,é&rrr‘nﬂs%nmm; 2. - ﬁen'r_r( |
Ec) Crire mé;aaﬁrrf.eﬂ | 3 - FEpTEm
@ Qun@mml_w_mf 4. @;‘r;é]u_lrr'
@ O © @ |
A) -1 3 2 4
B 1 2 3 1
© 14 . 3 1 2
™ 3 - 4 1 2
5 | o | 15 " DEOP
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35. By which Amendment Act was Sikkim annexed as full fledged state of Indian Union?
(A)  32th Amendment Act, 1973 (B) 34*h Amendment Act, 1974
M 36th Amendment Act, 1975 (D) 38 Amendmenf‘Act, 1975

Qi gendlusdern Hadib-eww G ap(p wWTHawrs @Gmemg,g, Sirdlwsventoli g%]@g,g,& gL 1D erg? o
(A) 32 eug dnpass s 1973 - (B) 34 eug dmssssib 1974 c |
©) 36 aug Aisé o 1b 1975 D) 3Bamdosste b 1975

356. . When did the par liament enact the 0ff101a1 Language Act?
LW 1962 . 1963

© 1964 - (DY 1965

cﬂq@]a_ls'ﬁ Ghbrr@é #Lib ungﬂ@m@b‘rp&@@b Gr;r,g, %@@'@umuur_l_@?

(A) 1962 o ® 1963 -
(C) 1964 - R (D) 1965
37.  The doctrine “Basic Features” of Indlan const1tut10n was propounded in the ]udgement of .

(A)  Krishna Swami V. Umon of India, 1992
_ Kesavananda Bharati V. Union of Ind;a, 1973 . .
(©  S.R. Bommai V. Union of India 1994 - o
, .(D) . Kﬁldip Nayar V. Union of India, 2006 = - ' | ‘ ' - i

Qpshw é\%i‘;ﬁmrsum;amuqé <5=rr<5=6;1g§16'm “t_—i'HLgL'JLIJGmL& samedr ey Carlur( aps ‘Gugpésé]s&rgr'rmﬂlﬁo
&@@Jﬁ&;&;uuu_gj’? . ‘ B | '

(A) A meigamaeumil V. @(r_r;;ﬁu.l @emﬁlum 1992

B)  Gssaraps urrd V. @pSw genflub, 1973

(©)  erav.ayi. G‘]ur‘rLb?sm‘LD V. @b geanflub, 1004

(D) @@5u prwi V. @b @@m@jm, 2006 |

. DEQP T 6 o o
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38.  Match the fbllowing ;

(8 T.M.A. Paivs State of Karnataka (2003) " 1. Protection against arrest
(b) Visakha vs State of Rajasthan (1997) ‘2. Rightto freedom of Religion
« (¢) . Gopalanvs State of Madras (1950) ‘ ) Protection of Life and Liberty

(d) Gopala Krishnan Nair vs State of Kerala (2005) 4. . Right of minorities to

Administer the educational

Institutions

@ e e @ S
\(/ 4, 3 1 2. |
® 3 . 2 1 4
© 4 1 2 o3
® 1 4 3z
Quimmsgs :
(a) T.M.A. umul vsaﬁquéﬁnéi(QOOS). L ma;géé@crg.rmmurr@a;rruqr
(b) ellgnam vé rrReugTen s (1997) . 2. by aag,(r_‘r,g‘,]ugﬁrj)a;rreﬁa,rﬂmm
() C‘Sa;rrurrsueiﬂ..vs @anﬁméiU&(lQSO) | - 3 . ey Lﬁﬁ)g};m &ZBAT LTHETIL

(d) Csmure Smeipenren HTLT Vs Caper e (2005) 4, é]g;ur;éhmmuﬂemr’r Faell

Bmeueiger ;F,\ﬁeué\é;ng o flen

@ ® © ~@ .

A 4 3 1 2
® 3 2 1 4
©) 4 1 2 3.
™ 1 .4 3 2
& S A . DEOP

[Turn over



' 39.  Parliamentary system of Government Implies

' J Power is vested with elected legislature

®)

(©)

D)

Elected by the people
Cabinet system

Presence of unitary Government

ann@me&nm SITFTRIE LpenD era QumeT iefiug

(A)
®)
(€

- (D)

SiFsrrhsar CarboshH sl L &g;jalﬁlfmr'ra;d-r Qemetmig (HLILS
D& GTITED @g’ﬁﬁ,@g@&&&u@mg'
SI@DEFSTMR (LPeDD

@@ Gmm'u.:uu@gg,uul'_p SIPEMRIGLD G (HLILIS)

40. The part XIV-A of the Constitution of India is related to

& The Tribunals

B)
©
™)

'The Electoral Reform
The Judicial Review

The Official Language

Gpdw rfwueao e ugH XIV-A Qgrmyen w aflumb

(A)
(B)

©

M) -

DEOP

Srumuk ger
Caiipd Sifmssn -

B8 yemgmiey

Bbdli igpied errgﬂaad'r



41. Match List I with List IT and select the correct answer using the eodes given below the lists.
" List1 (Event) | ' List IT (Year)
(a) Year of Great Divide 1. 1950
' (b) Industrial policy reso}utlon 2. 1921
(¢) Setting up of planning commission N 3. 1969
(d) Nationalisation of 14 commercial bank 4, 1956
B CY ® . ()
A 1 2 4 3
W 2 4 1 3.
) 4 2 3 1
o™ 4 3 2. 1 | | ,
“Quirmsgs - uligwe I wpmid I-epw @un@g,ﬁ &G Qarihssuul ferer efiwrer ellanL.enw Gsirey
ALETTSES : _
ulguwie T (Bspay) Litaguied IT (yemr®)
@) Ofcfmar o@rd 1. 1950
(b)) Gsnfe Qamdrens L4l 9. 1921
©  BlLé @ omossd 3. 1969
). 14 cranflss aurtiser GHAuiownomEELIC L g 4 1956 )
N C:Y) (b) - (d
A 1 2 4 3
® 2 4 1 3
© 4 -2 3 1
D) 4 3 2 1
42.- Which of the following is associated with the “Golden Revolutlon ?
M Horticulture (B) Crops
(C)  Oilseeds (D) Fish production
&G @a;n@é;a;&ul;l;mma;aﬂéb é@j WAL uuLéﬂ”—(Emrf@'@Gmsmé;aamul'_@mm@?
A)  GsriLésma (B) udiser
(C) qe&n@@ru;l eisgisaer (D) Semephusd
o 19 DEOP
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43, In a budget the deductlon of total plar and non- plan expendlture from the sum of Revenue
receipts, recovery of loans and other receipts is

(A)  Revenue Deflclt o ({ Gross Fiscal Deficit
(Cy  Neét Fiscal Deficit 7 ' D) Pmmary Deficit -

[i3E] ,@mm aifsamsdea Gwng,g; 5]:_:_Ln Frit wHmb Sb gmm ngmascnm GU(BEML @Jr}'a_{ FHL_e
BLA whmw 9p a1l 05 @g;rrama;uﬁ]aﬁ]@ggj HL0l&g cu(heug)

(A) @J@c«mrru_l UDmTEEGeDn R (B) @Lorrgjgj B umg)na;@amm
(O _ﬂfﬁﬂ,@ﬁl—l UDDIEGEOD . (D) &Lq.uuml_ug)rprra;@amg

- 44. . Which one has the sole rlght to 1ssue bank notes of all denommatmns? |
R .‘/ RBI | -
| (By Mlnlstry of Finance

(C) ’ " Cabinet Committee on Ecoromic affaifs

(D) Both (A) and (B)

&Ep&mnmg)gjm Bpéluirellcr uant e, g,qenﬂ:_@ Qeuafl@@ i é{ﬁa;rri;rm u_lrr@sm_u_@?
(A)l flaren Guiis <yl @pdur ' (B) #£g BB LOESEID’
(€)' Qungmertngny aﬁ]@w;mr samwésss @ (D) (A) wpmn (B)

' 45.  Which of the following is not _tne example for Direct Tax?
(A)  Taxes onIncome o
(B) ‘Taxes on property

(C) Taxeson inhe‘ritance

M Taxes on entertainment

&Epé;a;a&mnsmme;@w ranau Cpips aifléarar c@sgissm (Q 2da?
(A) - laj@mrruﬁlsb? Bamer euflser

(B) Qengglm Bgirer cuflger

(© aurflsfeposer WBairen aJrﬂa;aT

M) Caalsens Bagmen mrﬂaserr

DEOP | L 20 o &



y . :
46, Aam Admi Bima Yojéna, 2007 is
(A)  Poverty Alleviation Scheme ' - (B) Employment Generation Scheme

y Insurance Scheme (D) ‘Housmg Development Scheme

. <2 g1 G Guirgges 200?, (1 |

(A)  eamens flliys b (B) Ceauaner eumiiyg St 1b
C) eruSi@psdiin , - D) &S esd A Lib |
47. Consider the following statements :

Govt. of India Introduced Direct Benefit Transfer on January 1, 2013 vﬁth a view to

1. reduce corruption
2. control expenditu're
- 3. facilitate reforms

Select the correct answers using the code given below. -
(A) 2and 3 only . @ land20nb
(©) 1and3only . “D"lZmdSoMy

a%@&a;afo’rm FHED YTTS
@pHu emsThsd garaf 1, 2013 b () Crg L wripp’ (DBT) &L gams
- BlpsLL(hsHusen GHTEsLD. ' o - .
1 egesmss GopuLsDE
2. Gremas @-mmuugm@ '
8. 3ﬁﬁ®ﬁﬁwaﬁwﬂ@ugaw§m@
: e%%pasa\;MLemaJa;@m sRlwinen aflent_anuid Gg,rrg;@g,@asas
(A)  2wbppb 3 wLED o . ® 1 mm@tm 2 LDL@LD

©  1lwpmi3 Wb - . (D) | 1,2 WwHnID 3 L (b

o - | | a1 S 'DEOP
' ' ’ [Turn over -



: . . . ' S A
48. Who among the. following was the first to - attempt decentralisation in financial
administration? - - - '

(A) . Elien borough . . (B) Lytton
(C) Ripon ' AP y Maya
Wi @gﬁiﬁ wpalio AHS sienm Hicursggle ‘oidsmy Lreuarg & Qararasens’ L@ ssemti? -

(A) eradlew GmT - B alliem
)  Muuer - : L (D) wrGur

. 49, Arrange the names of the Viceroys in the chronological order.

(8) Lord Linglithgow 1. 1931 -36

(o) Lord Wellington 2. 1943 47

(© Lord Wavel 3. 1884-1888
(d) Lord Dufferin | 4 1936 — 43

(5) b (@ (d)

A) -4 1 3 2

® 4 2 3 1 '
© 4 3 2 1

M‘* 1 2 3

+

e rmisellan @ Lwitsemer amRaCemi( Gaamiss.

(8)  enadzCar Gry 1. 1931-36

(b) @mmmpmﬂr}u 9 1943-47 L

© Gaeedp, . 3. 1884— 1888 )
(d)  Codfler Gy 4.  1936-43

@ O © @

A 4 1 3 2
T ® 4 2 3 1
) 4 3 2
D) 4 1 2 3

DEOP 22 | ' o



50.

.. bl

52,

V.0. Chidambaranar hired ships from —— éonipany.

w Shawlane Steamers Company (B) British Steamers Company
(C)  Steam Navigation of India (D) Anglo Navigation-

a2 fgbuganit ————————— eTan ApeuarsfLd @ hhs sliudadr Gurfl_cn&ég TRESTIT.
(A)  -egrGaer evielbiey sbGuafl © , (B) AL 14 6 Gvtenireh HIDE LG

(O Bore CrellGaagen <01 EHAwWT | (D) gy rddGaw G‘njaﬁ]@é;aq,sb'r

When was Khilafat Committee formed in Bombay? _
(A)  April 1919 T (B) March 1919
W September 1919 ' (D) January 1919

- umbGuielile aThg pa@mH Hamug G ahu BésL UL g?

(A) gLy 1919 : : (B) wnmié 1919

S (0)  QstiLibui 1919 (D) gereuft 1919 -

The Indian National Movement of the first phase was called as
L. Period of Moderate Politics

IL. Tea-parfy Politics

III.  Political Mendicancy

IV.  Radical Politics

- (A) Tonly correct - (B) 1II only correct

W I, IT and III only correct (D) L IIandIV only correct

@bl Ggyélu_r a;rrrmaﬂrmuﬁeur QPHD HLLID GreuauTy) @gﬁlul_(ﬂl_uul_l_@’?

I L&gssurrgﬂa;aﬂsm Sirfud ' T

II. Cohi eNmHg AT .

L spdusd Qoeresd

V. (pepemLiuTe cvql;réiu_mi) ,

Ay  Iwl@ne - (B) I ol @ s

© LIopps Mloc@osh (D) LI wpyid IV wc G Erﬂ

23
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5‘3. Which is the correct statement?’
B Indian Constifution is a written one
TI. ~ Indian Constitution consists of features.of both flexibility and rigidity
: III.  Indian Constitution established a secular state = '

IV. Indian Constitution is agamst the federal system of government

(A) Tonlycorrect ’ (B) _IIonlycorrect =~
() I andIVonly correet : \V I, 1 and III only correct
sflusmar allenLemws @gﬁb@g@. _

1. QS ST G FTPSILL L SrfumamintiLy

CIL @6 siflueeniy Apdugd wipb CpspT QusbyemL g
III.  @pdw @pflweer iy wgsTiubn 'E,nLq_Gmm_Gfg)u@ngdng]
V. @ SR sl L8 aperp 2TEES el iena)
&)  Twl@nbesn : . (B) 11 wi_ @b #M ,
© LwoppolVol@os . (D) L 1Lopgd ol Goesd

5.4, - If the average of the values. 9,6,7,8,5and xis 8 Find the value of x.
: @ 12 o gl -
© 1w \ ® 9

9 6,1, 8, 5 DML X égi,élma_lg'),r_ﬁlém symal 8 ereflen x @ L sreirs.
@ 12 : B 13
© 10 S o ™ 9

55. . Find the standard dev1at10n of 40, 42 and 48 If each value is multiplied by 3 find the
. . standard deviation of the new data. -

(A) '—-—'104 | ' ® - V132
M Jor . o 2

2

40, 42 48 erenid L@ul_;erraﬂ Gﬂmqgﬁtm@g gﬁL_l_aﬂGua;a;m STERTSE. @su@surr@ WEILD 3 <40
. @u@aaa;uu@m@uﬁ@ $lanL&@ b Ll m‘é,]uua;@a;a;nm Quuzfiﬂsuma;m FTEHTS.

@ = '<B) NED
© oz o) ——“

DEOP B | 24 . £



57.

58.

59,

- 756. W‘A one of the following cannot be lengths of sides of a triangle.

4cm, 11cm, 16 cm _ (BY Bem,9cm, 13 cm

(C) ©6cm,8cm, 12cm ' (I 7cm, 10em, 11 cm.

. Epsar_supBled gy apsGamamsSen Lissmisafiar ﬁmrﬁw;.mrra; -@{%mmu.nr@)?

(A) 4 Qsaf, 11 Qa.18., 16 Q8. By 5Qesd, 90815, 13 Qg6
(C) 6 Qsif,8Qs8, 12 Q5.5 - (D) 7TQsaf, 10 QsiS, 11 QaS.

Find the number of days from 215 February 1900 to 4t June 1900.
105 . ‘ (B) 103
© 102 S | M) 104

" 1900 @ytb @yer( Gireudl 21 eyin Cadl oo Ve 4 b Gadl (pig il eTHsenarn Bl saT 2 eTang)?

A) 105 (B) 103
© 102 '- - D) 104

A man ate 100 grapes in 5 days. Each day, he ate 6 more grépes than those he ate on the
earlier day. How many grapes did he eat on the first day.

8 ‘ . : ® 12

(C) 76 o (D) 54

@meur geaiQeum s BrEnh apha Brer emind L ﬁrjrrl'_emace};dﬂ@"ﬂ eramenflEamsenwet_ 6 Slymlamsser
spswns sruG@fort. 5 prisefla 100 Hrrimesser sl mo g BreT @{Gurr 2 T R
Srmienssatien GTaiTanTEmE GTeNen ?

(A) 8 . ' | (B) 12 -
(€) 76 (D) 54

P

A 220 m long train is running at a speed of 60 km/h. In how much time will it cross a
platform of length 460 m?

(A)  41.5 seconds . (B) . 38.7 seconds
40.8 seconds - D) 424 seconds

220 B Berapdrer Qarii euamgwneng 60 &.8/wanfll erérpy Coussde Qecrdng), eraied
460 B Saraparer panL Guenlenw sLULISHE aTeusuarey CHID T(REgISCETaT(@RD ?

(A)y 415 aﬂmnq_a;m : ‘ (B) 38.7 efemqmar

(C)  40.8 eflenmgger o n(D) 42.4 efianmg Fer

25 - I DEOP
' [Turn over



T 60,

’

‘The standard deviation of 10 observation is 44/2 . If each observation is m‘ulfiplied by 3. Find s

the new standard deviation.

@ vz ® 243

'M.m\@_ e D) 2

10 |_|61T61ﬂ aﬂeumm&;erﬂsm ‘QL_L_G)SI]GDSSESLD 4\/— é{l_ll_(@l'\'(ﬂﬂ aﬁ]mgg,gﬂsm Lngﬂuqasmm @m@@unmmmuw

A

3 %G\) @u@&;&; Slenl_&@h L;g_ﬂu_l 'ac;h_l_aﬂ@aa;e;m wng? .
@ Y2 : | ® 243
© 1242 | D) 32

61, A two digit nitmber is such that the product of the digits is 12. When 36 is added to the
" number, they interchange their places. So which is the digit in unit place of given number?

(A) 2

c B ®) 3
© 4 | W 6

@rr i evds Grawaaetﬂm DIEDLES @r;rmr@ Grawaaetﬂm @u@asasg)ua)m 12, SIS GFGW@LGUT 36 s L

25 rrflevds eredm @I_Lorrgﬂa; @a;rreﬂ@w GI'GGﬂGD cg;@u@@uwmﬂm c@_rﬂma;a;g,gﬁw o Ve GTERT 6Ta; ?
@ 2 | - ®.3
© 4 - D) 6

62, ROSE:912822::MICE:? - - -
C(A) 139322 . _ \{ 14182422
(© - 13182422 o (D) 149322
ROS_E 1912822 : : MICE : ?

(A) 139322 ' a o (B) 14182422
(©) 13182422 | ' (D) 149322

DEQP : g B E : T o



- §3.

64.

65.

66.

A man bought an old blcycle for z1, 250 He spent ?250 on its repairs. He then sold it for
%1,400. Find his loss percentage

6.67% o o '(B) 6.60%
) 6.68% : ' D) 6.65% -

§(H BUIT G(I5 LIGnLpu L&,é,]men'ﬁqu;emu_: 21,2508 curiiflami. igemans Frupss T250 Qeawey Cawign -
<6 igamen T 1, 4005;@ Gﬁlg)fprrrr el | ‘F_F)I_I_ &g;@ﬁg)g)mg)sa HTGTH. :
(A)  6.67%. - . : S (B) 6.60%

(C)y 6.68% - : (D) 6.65%

Find the’smallest whole number which is e}iactlj divisible by 15, 243

v 252 o ; B) 154

© 322 7 (D) 454

13, 24,34 wpmd 4Leremp éreﬁmsmrréieu@upésmq_u_: Wla&EHiw (p(p eremTarg)?

(A 252t S (B) 154
O 322 . : . (D) - 454

‘Find the least number Wthh increased by 3is exactly d1v181b1e by 10 12, 14, 16,
(A) 1680 : S M 167

(Cy 1697 o o - (D) 1670
o1t AP creinrami_ér 3 sal i anmed i) 10, 12, 14 0Hmd 16 @yd augu@n? .
(A) 1680 | (B) 1677 ' '

(Cy 1697 ‘ R . (D) 1670

The LCM of two numbers is 36 times that of their HCF The product of the numbers is 3600.
Find their HCF.

10 R " 'f_(B)-15‘ |
) 8 .- - | oD 20 S

| @rym@ eramsafien 5.8 eumang: DBS @wm@ cremraaties . G]mean (Burrcsu 36 Loum@ ngeurpgﬁ\am
G]u@saa;rpueum 3600 srafley c_smmrpgﬁlcm . Gl au. Greviem ?

@& 10 _ B 15
© s S D) 20

27 ' DEOP
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' ‘ 4 2,2 ‘2 :
. 67. Slmphfy Lzyz + »«;E;
yh-xtyt )y e
A7V RE L ®) 0

M.—1 A(D?- x_z :

¥
@ &% Y~ %yt ; ¥ ) | |
A) 1 - ' . ®) 0
' . 2
© -1 S ) N
) b

68. it A, B C,D, E are Natural Numbers and A+B= C 2B = E B+C= D B+E A
Then write in ascending order.

| B,E,A C,D . '_(B)' E,B,C;A,D
* (C) B! C: E7 ArD . ‘ . (D) _B, C, E, D,A

lABCDE%&ﬂUJGm@J@UJGUGTGMTEGTLD[DQ]LD A+B-= C 2B = E B+C D B+E A

arafléd gmeuflensuded erpsis. .
(A) B, E,ACD _ (B E,B,C,A,D

‘ (C) B1 C: E: ArD - ' i ] : (D) Bs G’ E: DsA

69. Sirﬁphfy : [m Al @] - (ﬁEJ +2.

V144 ¥8)
| 21 . i - 21
RO ‘ | ® 3
© = . R
4 | | _ 6

o 500 + ¥144 (418 ;2

56 V144 Vs ) T
| 21 | - , , 91
@ T e
21 o : 21
© 5 - o T ‘(p) 6

DEOP . T i N o
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71.

72.

A ribbon 1s cut into 3 pieces in the ratio 3 : 2 : 7. If the total length of the ribben is 24 m.
Find the length of each piece respectwely

Mﬁm 4m, 14m ' : (B) 14m,4m,8m
(Cy 6m, 16m,,4m - (D). 4m,'6‘m, 14 m

24 & Bergperen R0 Mluer 3 1 2 1 7 aremp aﬁ]eﬂggé,]eu 3 @m@&mﬂa @Guu_uu@a‘;']pgj c;mpﬂen
gpeullaumm @mqw Fembd penpCuL erémen?

(A) 615 418 148 (B) 1415,415 848

(O 6816545 . D) 4.8 618, 14 8

Find the ratio form of 4 years to 8 months
(A} 4:8 - : ' (B) 8:4

€ 1:2 MG 1

8 LTSRISEhEE 4 (LIRS aaTLigen 64&s G)JL:}_GULb-GIrGiST(SET?

@A), 4:8 o S (B 8:4

© 1:2 . D) 611

If A:B=4:6; B:C=18:5; find the ratioof A: B:.C.

A:B:C B A B :C
(A) 12 . , (B) .
5 : 18 . 5 : 12 ; 18
A B . C T A B : C
2 o
12 : 18 : 5 18 - 12 : 5

A:B=4:6 B:C=18:5 aafi® A: B: C Wer clssmss srens.

A : B . C ' ' A: B . C
(A) - (B -
12 : 5 : 18 5 E 12 : 18
A '.7 B : C | A - B . C )
© L @y 4P
, £ 18 : 5 7, 18 : 12 : 5
29 S | . DEOP
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73. The thickness of a hgmispherical bowl is 0.25 cm. The inner radius of the bowl is 5 cm. Find "

the outer curved surface area of the bowl. (Take %= EE) = -

T (A)  153.25 sq.em, S x/173.25 sq.cm.

(©)  145.25 sq.cm. ' (D)~ 163.25 sq.om.

é,qemr;'a;@a;rrm GUlg.6U lsﬂsuﬂmrg,ﬁem Blgy LDEHT 025 Gledb. g{g,@m au.;gp %rjm 5 Qb araled
g{&;ﬁmm‘ggﬁm Qevafliym msmmur;’usmua; asrmma; (7= »2:%)
. . l .
(AY  153_2‘551@&8. . : . (B) 173.25&-.@&5.
(C) * 145.25 5055, N . (D) 163.25%Qa.

74. From which one of the following data the triangle ABC cannot be formed?
(A) AB=BC=cA AMAB‘=2BC.:3CA
(C) 4AB=2BC=3CA (D) AB=BC=2CA

B @'G'o'ré_l@a_lemmﬁ)gcsh ABC e @é@énmgsﬁg 2 (HEUTES (PlgUins Qﬂl_l'lj'-L'D aTE|?

(A) AB=BC=CA . (B AB=2BC-3CA
(©) 4AB=2BC=3C4 (D) AB=BC=2C4.
75.  Find the perimeter of a square whose area is equal to thét of a circle with perimeter 2mr
@ 2w L ® A
© ax o SN ar

27T &mHmeTey o Gren éJl'_l_;f_'r;@G'o'r uguumé_il_b G sEITSHa LTliLeaTa|b s aafld sgrsdan apmerey

ETEoTEnT? _ ‘
@ e @ A

© D amr
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o
76.

717.

»

A certain sum of-money amounts to Rs. 6,372 in 3 years at 6% on simple interest. Find the
principal _ 7 ' _ ‘
(A)  Rs. 5000 | . (B) Rs. 4,500

WV Rs. 5,400 _ . (D) Rs.'4,000
0 @O Qgrrsma;u_lrrsmgj 6% gﬁﬂﬂGSUI_Lq_ aﬁg,g,,é,]a) 3 @J,Gutrr@&mﬂa) - 6,372 =y fing erefle
DIFDOE ST
(A e 5,000 .. (B) w4500,
(©) . 5,400 | D) ¢ 4.000
Vaideesh depos1ts T 500 at the begmnmg of every month for 5 years in a post offlce If the
rate of interest 15 7.56%. Find the amount he will receive at the end of 5 vears

\,eef' 3571875 , (B) T 37518.75

(C) T 37581.75 - N (D) T 35817.75

- eaifev eremueuir T 500 g euleuny wTEs: Qg;rn_ésasg,é,@nb it DigrewESHlD S5 %G&W@&@&@&

@&gug,gdaﬂﬁmmrrrr eul g aigin-7.5% arafldy 5 c.gbsasr@a;m wpreile) eu dumib Cgres mmsumeu'?

(A) T 35718.75 - o B) 37518.75
(C) T 3758175 ' | D) T 35817.75
Fill in the blanks ;

If a,b, ¢, l,-)n are in AP then.the value of a —4b+ 6¢c - 4! +m is=

A1 B) 2
© 3 | ,}3‘)’0
Gamg. L @L_g,aog, @guq&;

a,b,c,l,m eranuen s (H& @g,rrur auflensudd @inden a—4b+6¢— Al +m
@ 1 | B) 2
© 3 | oM 0

31 | o DEOP
[Turn over



"

. . . . . ‘ ,‘;;(
79. If A denotes x, B denotes +, C denotes. = and D denotes —, then find the value of

25D42C6B10A5 ‘ , ‘
(A -52 | " (B) -68

© s2 V7 68

A oaeng x @ EHédng. B meas + g efsdps, Caog + n edédog vipd D s -5
Gh&dng eafler 25042C6 BLOAS 6 indllié srams

(A) 52 ‘ | . ®) -68
© 52 . D) 68
20. ' Re‘searchers beloﬁgs to which ébuntry discovered theé evidance of water in 17 asteroids
"~ (A)  China 3 . _- *B'f Japan
‘(C) - USA~ ' . (D). France - '

GG ‘EF[L_GDI_ Geihs @Jcourru&é]lunmnasm 17 %amq_gmu@a;mﬂeu (Asteroids) ﬁm @@uumg‘

- ST LDl Sem T | _
(A) fsmrr 7 - ' . (B)  guumer
@) =@QuRast(USA) - (D) . Qyrenen

81. 20 18 Nobel prize was awarded to J ames P. Allison and Tasuku ‘Honjo for their contribution

M Cancer therapy

(B) AIDS therapy . -
(C). Malaria therapy '
D) ' Leprosy therapy -

2018 @ Gbnuw LfigéeTs LRNBEE®ISSEILL @gu)em P. =nellsen LDQ)Q]U) 55 (5 CBB;W@CS&W@S]G@T
- st (illig Ly wrg)? : .

A udpCEML GerLBSED (D

(B)  eniileh GILBSSID peop

@  wCafwr @@Qu@&,ggu} (P
(D) Gsn@Gm: G@TILGESID (oD
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2.

33.

Which of the folldwing factors not in favour of rapid. Industrialisation as mean to fast

economic developmeﬁt
(A) Productivity of labour

(B) Emp'loyment generation

. (C)y  Mobilisation of surplus

M Industrial licensing

55@9 Qﬁ?”@éﬁul—"ﬁ;@@m sfs @u‘rr@mrrg;lrrrf @Gh@mg')gl)ip a{émpu;l @rlrj)u@;j,g,'s_fjugtﬁ srreniaee, THS
@@ a;rrrfecnﬂlgmg, QBTH DD TEESIHE LTSS aeﬁ_éﬁgj? |

(A) | Qs erenisaiien 2 HLisH | |

(B—)‘ @Gumm.mﬁu}uq'g_@‘suné@mgj

© P asud Geonay

(D) | Ggmfler o Mob -

The ijél Discom Assurance Yojar;la 1§ réléte d-lto
(A _Agricultufalrdebt releif | |
(B) Subsidy.to industrial establiShments
(C)  Govt. of India to take over the debt of power distribution compames

M State governments to take over the debt of power chstrlbutmn compames

i@mncb G- GOSHTLD BHE WL e 6 @@ng@ﬂﬁ ‘Greim_ng,j (@g,@emr@ AerLiyent wig) -
(A) . C?Gu-mrrmiar s1a SaT@EHLIlg | . |

(B) Qg’,m(@@ Bl e TR 55T 5 MeaT mqaﬁﬂ@m

(C) ‘ uS]ehT aﬁ]afﬂ@ﬁ.lrraa ﬁ@mm@&dﬂeﬁ sLenar L‘D‘é’;ﬁu_l é{u’&@@gés@aarrérr@g,sb-

(D) Sler Qe Guins Bl euenmiisefien sLenar wnﬁéu,@ma;a;d'r Gjﬂ)@]é;@&;rr@i‘r@g,éu

33 T . DEOP
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84.  Match - LR . %
List I (Event) List 1T (Day)
" (a) World AIDS Day 1. December 10
(b) Navy Day - 2. . December 5
(o). World Soil Day - 3. -December 4
- (d) Human Rights Day 4, December 1.
@ ) © @ ‘
a8 2 1
B) 3 4 1 - 2.
© 4 1 3 2
o) 1 2 3. 4
@un@gg&“ :
C lrgwe I (Bepay) L utiqwe T (poer)
(a) s.o& et e Semid 1. geburl0
. (b))  sLue uenL é}]GbTLb - 2. gFDUTS
@ e wswerHatd 3. . waburd
(d)- wells 2 feno Semd 4. geburl -
@ b © @
(A) 4 '3 2 1
®) 3 4 1. 2
C) 4 1 3 2
D) 1 2 3 4
85. . Which one of the followmg t1ger reserves was recently Chosen NTCA for tiger augmentatlon
~ programme? . :
(A) . Kanha Tiger Reserve
(B) Panna Tiger Reserve
Buxa Tiger Resérve A
(D) Rathambore Tlger reserve
@(r_r,g‘,]u.urraﬁ]eu e Lyedlaer mm@ﬁ]mm@) STETTEILD aﬁ]@g,g‘,] Qi Caray @&u;muul_l_g,j
(A)  sme ueﬁ]&ssﬁ &r;smsrrreumm . '
B)  urer (llser FTERTTEWID
(€)' unéav Lellaer sqammaLd
D)  paseabyiT Lser FyammTenLd
" DEOP 34



T

g6. Nagoya protocol is related with whlch of the followmg statements
Utilization of genetlc resources "
(B) Utilization of forest resources
()  Utilization of marine Tesources

(D)  Utilization of mangroves resources

Hameupld s ihmisetiad ‘BGamu’ @qgﬁ]asema;ul_m Qre_r,rn_rrqeml_mgj 6757
@A) wm4@éh%ﬁmm$mmuw@MG5@5@

B)  euan ygmEsmeT LLIGTUESSISD

(C)‘ HL6) FrT %gnu@aﬁsmm.ummu@ggjgeb

D) cieaursSaT( LSS ouému'@gg,Jg@

87. rThe success of Green Revolution ensured food securlty in India. But today it is under
- contraversms With reference to Green Revolution '

1. Overuse of chemicals .
o2 Vanishing Eio—diversity

3. -7 Drying aquifers |

4. Use of bio-pesticides

Which of the above is/are have caused land dégradation

M12and30nly» ' o B) 123and4

(C) 1landZ2only : §3)) _1 and 4 only

@bdurefed o erral urrg,]&ﬁrruq ua;smmuqr;l_é]mrren ejmugegn@m DYGTITED, @GDTQ[ SIILSMDL
|_|r,r|_,<ﬂ€tnu_|u u,rp,r_f)] Grﬁrrmamgpu_lrrso'r S(H S| HET @mmaﬂmmm asrﬂjsmw ‘

1. G@Jﬁu@un@m&m TR Y, uumu@gguu@mgnm - _ I .
2. e.lfahsien iy |
3. ;F,]Gugg@_f,r’r Gasrruusmg) Gumstitsr@ C‘Surrgéu
4.'» - 2 WrQsmemaf] umsmu@ggugseu )
(A) 12m@ym3me@m L o® 123uwgm4
© loppofe@s T D) 1 whp 4ol Go
oo 3 | ~~~ DEOP
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- 88. _Which of the following combinations of Book and Author is not correct? B 2
(A) The Over story-Richard . ' -
(B): Snab-Belinda Bauer

w -The Mars Room- Daisy J ohnson
(D) The Long Take‘ Robin ‘preltson '

: '&CSB; QarhHEssul [Herer Lsssw wHmID ag,em cfg{,eﬂrﬂwrr @@6}9@0 5=rﬂqura; GQUMBBSNS @) andm TGl
A 4 g;aeurr suGLril-f&arT@ueud

(B) m(r_r,rru—ﬂe&emur Quemsurm
(C) & wrisverb-6Lf mremaen '

D) - H oG é-rmien prur_ger

&

89. .In whlch of the followmg years the United natlons declared June 21 as the Internatlonal
' Yoga Day? :

(A) 2012 | : e (B) 2013

\y 2014 . , - (D) 2015

wreem_(H G . Hamong smoer 21 g Gr‘r_ﬁg, (D &S prisdr Fonu siflell$s8?
(A) 2012 . (B) 2013 '
(C) 2014 : D) 2015

90.  Whatis the objectives of special scheme of “SAKHI”‘?
(A)  to redress the grievances of senior cmzens '
(B) to assist the economically backward people

(C)  toregularise the communication system

w to assist women affected by V1olence both in prwate and public spaces‘

- Aoy Q,L‘“LTLDITGN sabl (SAKHI) sre’crruge'crr Gy ereman? '
(A) @g‘,?m@fra;aﬂém Coanousanar LTEE Celioug)
(B) QummerTgrrsdien @eﬁf’érﬁaﬂmmﬁa&@é&@ 2G|l g
(©).  Qeng Qg perp@u GuEELObHS - .
D)  geflwmt LD[D@JLD Qg @i miseftld Guam@,osmg)urrsu urrg‘,?a;asuuL_l_ G]usmas@aa@ o Fa|6uUg)
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g1.

92,

93.

Which country is havmg the largest border line with Indla’?

(A) - Pakistan - B C M Bangladesh

(©) China (D) Nepal

@Eﬁﬁﬁml—éﬂ Bl arevenarls Lglienus Qe B 61817

(A)  undldugen B mm@g,m

(©) 7 Fer ) o o (D) Geumemnd

Who is the author of. Long walk to Freedom?

% Nelson Mandela

Dav1d Devadas’
(©) V'A.P.J. Abdul Kalam

(D) Sankar Ghosh

s AT SDaTEn BT pre penL renn LissesSdn <y flwi wiri?

C{A) @(@@b&@h'meﬁmepmw

(B)  GLefl Gaaugmen -

©)  APJ.age somd
(D) . ehgr Gamey

Which is the National Tree of India? _
(A)  PalmTree " (B) Teak

M Banyan - _ : o (D)' Bamboo

@(rbg?]u_lrraﬁ]@'m Caélw b erg?

(A) qutr LD - o } - (B Cpés

©) e A (D) aphdle
31 -

DEOP
[Turn over



94. . The Tamil Nedu‘ government is pllanning' undef take the new fish landing centre in - .
' Ramanatha Puram distriet ' |

(B) ~ Tuticorin district |

{(C) Kanya Kumari district

. (D) Nagapattinam district

" s8lpE sirs, ydu e Q)m i g,mm S &GWGIT WTeUL LD
A @Urrmprrg,qmb Wmeul L 1b | ” |
B)  &1HEEGs e LD
(C)  semaflwrgwfl wreulLib

D)  mrslulgendbiomeul i o L ‘. )

" 95. Under Pradhan Mantri Gram Sadak YOJana Total Road length constructed per day in’
2017-2018 ‘ '

A)  69km o . ®) 100km
(© 110km N M1341<m

- Qrsw widAuler Apmos sreassr Guibutt H HILgHer &@ (PMGSY) g prafié). 2017-2018—e»

-Gumtiu@ibd sraeule Hemb )
(A) 69 km . (B) .100km
(C¢) 110km g (D) 134 km

96.  Which year first women Pilot Avani Chaturvedl of Indlan Alr force completed a solo flight of
MIG 21 fighter alrcraft‘? :

2018 S (B) 2016,
© 2015 | - () 2017

MIG-21 g& Guni aﬂmns&g@mw g,@uﬂu.lrr&; @u_lezaﬁ]u_: @(@gﬁu_l @Slmrram_l LIEHL_Gni @&n@g @g,cn Absw
@usm peuet] #g1TGeudl Auwsdu e () eTgI?

A 2018 . (B 2016
© 2015 I (D) 2017

DEOP . R .. 38 \ I o



Which country enacted ‘Rxght to Informatlon Law first time?

(A) Germany . 7 Umted States of Amemca

(C) Cannada . : MSweden

" BEHGCUG cmgf)]LqLB 2 fleno L1 (psen ‘(9)(5615]6'1) Qubplul L pr@ erg?
(A)  Qeiwefl S (B)  &i@wMés géhslu priser

v -

©) . senr o - D sofci

Whlch state is the fore runner in the treatment of out patient?

un  "Gea - | (Pf’;hnulNadu

(C) - Karnatakar - ' - (D) Andhrapradesh

qb@rr_r;rru_lrrerﬂaseh Aflsens 50 Qm\l_uﬁleb @5 apenCenmg s B (mEGD rblab arg?
@ Gemar . (B) sOgp0

(C) S BIL_& - . .. D) %ﬁ)ggﬁuﬁgym

The Judge of the Supreme Court to face the 1mpeachment charge leveled by the political -

'partles recently is.
© (A)  Justice KM Joseph - \MChiéf Justice Dipak Mishra

{) ‘Justice__Chélameswar - - (D) Justice Rajéin Gogoi

AL s Amemnd> Lgel f,e;saQLb GswauspE (impeachment) pHGUNE  LABgEEEILLL
o 5B B SHUS | I -

() BALSKM. Ggres - S ® gm@&@ﬁ@uﬁﬁu%@@mn‘

©  BupsaGomer (D) Bud e Gardnis

39 | - ~ DEOP
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100. Whlch of the following objects does not belong to the solar system?

{A) Comets T B MNebulae

(O Astemlds - D) P]anetsr.

é’;g,)éseérr@)]m Qurgplsefld @mMws @@Lbu{;gmg) Gorngs a7gl? -
(A areplesfrhseT (B '@(r_r;lJ@arrésasleiT
L (©) NemapEar - K _ (D) Csmenser |

101. The green house gases

\(f Absorb and 1eem1t IR radlatlons partially towards earth
‘(B) Only absorb IR radlatmn and dOes not, emlt '
(Cy  Only emit IR radiation towards earth

(D) Reflect the IR radiation

Lsena oSl eUmT&seT eréLenel \
(A) . i floutsy sfimaber o Pesd oiflé @m@ Liflenw Grrédl Cesefl @@
B) sy sfliswa o dontid) Qquafisdi_rg .

| ©)  esflenyy a;@rra;ma‘r LDI_@LD Lefanw ng&ﬁ @&@xgngm |

(D) ‘ c@{aaaﬂeuul_j a;g‘ﬂrra;mm QArdLiadsEn

102. Ih a magnetic field, the élirection_of motion of a current carrying conductor is given by
(A)  Maxwell's right hand rule (B) Lenz's rule
M 'Fle_rni_ngs. left hand rule o | (D)- Kirchoff’ s law

Gy SHSL qwgg‘ﬂ@o EHEUSHILIL | Lﬂﬁm@nu_m QuUDHD 51_ds @un@m [HE (LD gﬂm&mu_la; aalg)jm afd

(A) Gmassru@msus&m @Jsog]anss aﬁ]gﬂ (B) Cevéiid e cllS)
O LGednden Qg s D) SibeniGer o
DEOP 40 S ; e



703, '

- - (A) = Strain - \M Stress

104.

105.

106.

The modulus of Elasticity 1s the Ratio between stress and strain. Among the two which is -
the apphed force externally

(C)  Both are external force (D) Both aré not a foree

LBl_é] (GETHLD: Gfﬁmuu@@.lgj g,@masma;@m Sius@d o drar aﬁ]a%]g,mrr@m @é)@ il qm@ﬂlu_la)rras
@83FF®8555UI_IL“L6191@85U_IW@LD?

@ Sy (B pese |
(C)_ @wm@@mqmsﬂu;mrrmeﬂm& ' (D), @r}@dﬁr@@m@ﬂl@m&@;a}a} _

Stefan’s 1aw states that the total heat energy radiated from a surface 1is d1rect1y
proportional to

(A)  1its absolute temperature ‘

(B).  square of its absolute temperature , -
(C) - cube of its absolute temperature - | o
{ fourth power of its absolute temperature

cmG]l_urrem aa@rrsﬁ&a; @’ilerﬂuﬂemul_q_ (1 uuutﬁiaﬂ@ﬁg Qeauaflaumptd  Gongg Qeuliv . yHme -
5@ Gt s Hp5860 BmEELh. ' ' i

(A) ag,sm sl Qaulsiur flenen : (B)  eiger gafl DeuuuBlenaullas G(mioy |

(C).  oipen gafl @euuurjﬂmeuuﬂlem me@mmmr (D) o gensan Geuliuf eeuien prendlamioyg

Whmh of the followmg is ketohexose"

A) Glucose 7 MFructose

{(C) Ribose ' : (D) = Galactose °

] tﬁ]mm@)euemumgjm &gl &l_&_rr Ggoas@smrr@v’?

(A) GEpsGara ) (B) . ot &G e
(C) fGLmev ‘ : (D)  srersGLmse.

I

The complete mahure 1s that which supplies to the soil .
(A S KamdN PN PandK
(C) SandN o (D) S,NandP

. &go;ésasafn_euﬁ)@sh GTamEY G(Th (P(PEOLDIITEN 2 JLoiTas WairenanTé Clssmmaent ) gﬁgj?

(&) S Kupmib N - o ' (B) N, P uwpmib K
(C) Swhmgd N . o _ (DY S, Nwpgw P -
a S DEOP

[Turn over



107. . Which of the followmg is the mmeral of magnesium?

M Dolamite " S (B)  Kainite

(C)  Magnesite - (D) ‘.Magneﬁte ,
Qiogetsl i sdler Hefloid uimeg?-

(A) CGrreemiod - - - (B) swenent:
© CGoswwes D) Cusarar.

108 An OdelSlng agentis a
w An electron acceptor
(B)  An electron donor
(C)  In achemical reaction its oxidatién number increases

(D) It rele;:ises H: in a chemical reaction

- saligCeandi ererLg)
| (A) Gra;e'm;r;rrsmm qﬁ)@jé;@&;ngiT@Lb'
- (B)  creslgrenan s ' a

(C) Cadellenamuia &igectmeml_@ @Jﬁ%q&&)(‘ém@g} oretnr <o dlaiflg @0
. (D)  ellenaufiéy Hz - aneu Gleuafiud@io

109. The apparatds used to demonstrate fermentation is N
(A) - Respirometer "~ (B) Thistle funnel
w Kuhne's tube .. (D) Wilmott’s bubbler

BlanrHSe g eaneu @@Eﬂé&é_& 2 F6 D 2 UETETD

(A)  QrevQCrmbii_r . (B) Hfeé yeray
(C) Fo 0T @@mm : . . (D) eflevwml @l rgernd
DEOP . r | 42



X0,

111.

112.

Which one of t_he ‘follow'ing is not reserve food of fungi?

(A) Glycogen - ; | (BY Fat

M Starch o S (D) " Both (A) and ®)

t " ._1

ﬂeﬁm@mmmfb@m T8y Ly@henguller C‘SE_L(SI[JL{ a@moﬂ SNGe0?

{A) a?]smcrr@_asrrgsh ' i} (B)  Ga&mepiy

© eourid D) () o (B) GrenG

Which éniong the following is used to treat sewage?’

| “(A) Dlatom Fucus . S B .Chondr‘us? Chara

M Chlorella, Chlamydornonas - (D) Chondrus, Gracilaria

Sipeupeuameunblcd “5'5@.@4- B ssdsfinde uweniBeug ag?

LAY Lwmiob, SGysen | : (B) lasrrémtﬁqsio, Gsrr’

(HN .@@mr-r@gebévrr, aﬂmmﬁl@ur@bfreo‘rrrﬁio _ M  arér e, HorfCaflwr

Whmh of the followmg 18 the symptom of the- protem def1c1ency dlsorder “‘Kwashiorkor'?

(A) Fatty Laver ‘ (B) P1geon Chest
(©)  Burning feet \gaf Pt - belly |

G emeu (HeuaTaUDDIET, LTSS EHE! 66D LITL Te ‘@Gurro@u__irrfroar’rﬁéhr cﬂq;ﬁ\@;ﬁ\ wingy?

A Qsmgliy Blenphs HdaSyd ' [§2)) qmnmﬁﬁqaal(a

(O urgaflési . D) uW@@T@Uﬁ@T@ andl

43
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113.  Rejection is not occurs, when tissues or organs are transplanted from

1, Same individual

2. Idéntical twins

3. Two different specigé

(A) lalone , (B) 2 alone

d_landz S _ (D) 3 alone .

g sz 2 gy wippb QRBULGLTE aTelcumaLTaTaeIsmeT ahmsaaTaTEsib.
L @G dfesda Qmhal GF@&S&SLJU@LBGuWé |

2. @aLmLmﬁ&aﬂ;Lﬂl@ﬁ@ ﬁ@é@ﬁ@uﬁ@ '

3. @oCapiul L femsadmbs TOEEHCNE

A) g U (b & o (B) 2 wrHb s

(&) LDg:)@L'Dl 28f o D) 3 wipbef

114. An Ecosystem means -

i

(A) Biotic community
- ({ Biotic community and its non-living things =~
(C)- Non-living things '

(D)  Population

B ETL LD el

@ sl

B)  anfsdo o der éuﬂ@wmm@ oHmo o WAser
(©)  su9fSsar o

@) @amighbser

DEOP - - R 44,
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{ 151 Whlch among the followmg atmosphenc layer is most 1mportant for all biological act1v1ty‘7
(A)  Stratosphere ‘ - M Troposphere -
©) Mesoéphere ‘ ' (D) Ionosphere

Q@m@@m@mm T auatioaTL_a B[S e s_ufﬂrﬁan QFuUT(H&HEE &G0 STTeRoTag? -

(A evlgnCGurenQusfr i o a B) CCrrGumevi@usr R
(C)  BSCaraviQusrm b . . (D) é?qu_z@emrreﬁnﬁ]u_xr’r
1_ Find the following statement is not correct-based on the geological tlme scale
M Cambrian - - Chlna |
Carboniferous - Dominance of carbon
(C) Eocene - . Daybreak

‘ _(D) Holocene - Complete

Leflare = L auenemuly. - darfésiulferer or smpliul. (Herer &HEg 2 amaninulaame

(A Gebufluer - esam
(B) amiGUTERQLIED — oSl siaTe) BTG LigblD
©  wGundlen - prenGfgse

:(.D)' T

117. Which of the following is not associated with river capture?
{A) beheaded stream | : : M oxbow lake

(C) wind gap . o : '(D) water-_gap

&]mm@mﬁmmmgjm gl pOME a;raurrGaJrf@\ G]g;rn__rrqem,u_zg;mm'P

(A) Gmm PenL o . (B) " ®giany Gemby gl
(O srhm Genl_Geuert ‘ - (D) B Qe Qeueft

& S 45. | P DEOP
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118. ‘Swampy forests are found in

(G

\f River Estuaries

Inlands

FgIUIL | ﬁ]c{)é; STHGET Seimnuld UGH W raies

A)
(©)

%ﬁ}@]r@éﬁ‘é}gj@ T UGS ser
Q_G;IT‘E-WL;{BL.J L Slesar

119, Match the followings : -

()
(b)
(c) .
()

®) -

(O
Dy

Natural Vegetation

Tropical évergree_n forest
Tropical deciduous forest

Desert vegetation

" Tidal Vegetation

@ ® © @

1
3
2
4

NI RN Y
P N N
no e I

&G G]gsrr@é;a;l;ui'_l_euﬁ)ﬁmg) QAumrmEEIs.

(a)
(b)
(c)
(d)

(A)
(B

()

®)

DEOP

L w e A

DN S HT6u Th &HeT

< ILI 60T LOGERT L6V u&smLDLDrrg)rréa ETR&ET

Sie aL_e (@Gmsuu_;ﬁrr 85IT®EEG1T

I_IITGG)GUG}JGEST‘QS ‘Q';ITGUI]'TBJGEG‘IT

@B preThISHT

@ ® © O

NN
B e e QD

1
3
2

4

‘-"(B).'

B N e

L

46

(B

D)

D)

Coastlines

Rivers

aSL_gﬁaaGm TGy L@EgSlser

<0

. Tree

Teak

Acacia

: S'_undri

"Rosewood

DD

CoérE

' - &Cadlwrr ,'

spail
Grmeveyr.



¥20. Match the followings :

(a)
()
(c)
(d)

(A)
(B)
(C)y

Winter season

The South-West monsoon seasan

(a)

3

'2_

4

o

£Cip Gar@ssiu_subenn @un@g@&'. |
(a) |
®»

{c)
@

(A)

(®B)

©

(D)

@etl HrevLd
Geueflp FTewid

QAsenCGnE Umeal STH) Sl

"Summer season

(b)

1
3
3
4

& -

’(c) .

4
4
2
2

‘The North-East monsoon $eason

(d)
2
1

1

1

@Jl_ﬁé&%@ L(heU DT STeLD-

(a)

3
2
.
3

(b)

1
3
5 :
4

(o

4
4
2
2

(d)

2
1
1

&~ W e

‘Mid September;No{fember -
J une}-Septe.mber‘ '
- November—March

March-June

g Qe buiT-HeubuT
' e Oeir-Glels b
BEULDUIT- DT

i.Drrr'r&-g@GEﬂ

121.  The average annual variability of rainfall in Mawsynrom and Chei‘rapunji is

(A)

100 cm

T M'zoocm

(® 150cm
(D) 50 cm -

mrr@_r&s'm@crﬁb LDHMLD eﬂrji_l@éﬂ .%&E'U_I ‘@L_réjassrﬁém Spesm(RE agmal mmgu‘@un%@éﬁ]m &sﬁsq

A
(©

100 Q&8

200 Qg8

(B) 150 Qe.5 .
D) 50Qs.8

a1 C DEOP
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122.  Consider the following pairs :

Anniversaries : Days
1. National youth day - January 12°
2. '. Army day e o | J-anuai:y"l_S
3. National Tourism day - January 02

Which of the pairs given above is/are incorrectly matched?

(A) 1 only . ' : ® 1 and 2 only

() . 1,2and3 . “ S R MB.only

Epssan Gavarsamar S Gands.

UL Py spemB edpr  prer .
1 Gsfu @eergsiprer  —  gareufl 12
2, f@m@g@g@m - gerefl 15
3. Csfwspperdend - geneud 02

Ginhgablus Beemaaildy Saiprs Qurmbesals crg)? _
CHAY 1wl @b ' (B 1whob 2 ol @
(© 1,2 whmb3 D) 3w @b

123. Which one of thé‘following are 'inner planets of the solar system?
(A) . Plahétslbetween the sun and_‘éhe eérth
Planets between. the sun and the jupiter
(C) | .Planété in gaseéus state -
(D)  Planets without satellite
) |

@ilw @@Lbu_gﬁleh o_eTenanlohs CareTser eTmhiE sranlu(hidEammen?
(A) @rﬂu.n@]és@m, gﬂé@mr@mLUuLf_'G&srﬁw&éﬂ o

(B : @ﬂ@'@}é;@;b, @S]Lurr@@ui;@[o @enL-ufevres Carénser
(©) " aumy Flepaouligyerer CSessrrei'Teseﬁ : o
O @%m@més@ésﬁm i) (Saa.ma'rlrasdT

DEOP - o \ 48



y ,
124. The Mauryas fixed the toll tax at the rate of

(A)  15% of the value of the commodity g
v(aB’f one-fifth of the value of the commodity
(C)  one sixth of the value of the commodity
(D) one third of the value of the commodity | ’ C L

Guoerfwiser 28 sragd o snseul aeusarey erar BramudssiulLg?

C(A) Q'I_IFI'@!'_QSGIIT By 15% et
(B) . Qunmlsafler bai é WY aufl
; . 1. h
(Cy  Qummlseafen g 5 L, u )

(D)J' Qummiseier gy % LI eurf

-12_5'. Which one of the following ports handled the North Indian trade during the Gupta period?
~(A)  Cambay = (B) Broach |
A~ Tamralipte - .. (D Kalyan

EpssanL gE@npsnsEhar @Usiselar srasdd eu @idwreid einefllun pLES glenpupsib erg)?
(A)  s&mbGu’ : | B yCrme :
(C)  smbyredlng (D) séowimer

126. Vithalaswami temple was built by )
(A) Bukkal o (B) DevaRaya
o W Krishna Deva Raya (D) Virupaksha

aliggaseund Canullena &g el . 7
(A . (psorb ybsT - ‘ (B) (Bg)m T
H{O) é](_rgmpem Cgeurmum S (D) aﬁ](_rb‘urré;aq,rr

Eel SR | | 49 . ' DEOP
. ' - : ' . ' [Turn over.
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127. Whlch of the followmg statements arefis correct‘?

1.

~ The names of coins of Vij ayanagar rulers is called as. Varaha

The gold coln contains image of various Human deities-and animals

- The capital of the Kakatiyas was Warrangal : _
~ The Vijaya Nagar rulers adopted the custom of Chalukyan
"~ 11scorrect 2, 3, 4 are not correct

1 and 2 is correct 3, 4 are not correct

1, 2, 3 are correct only 4 i is not correct '

W All are correct

(%g@a;c;&arpmeua;mﬂeb shlureng) org)?

L
2.
3.
4,

(B)

(©)
(D)

‘ ammg,@m grﬂmrrmc@

aﬁlgu BT [6IT60T WL ST ‘Gurrr,rrra:rr"ersm cgqmia@éaa;uu@é]m@
Ghlsn I BET HEI% Eﬁmmm&;mﬂm &L |ET&ET LMD 6 eumhi @S er &(I_'DQJLD &TEmTL u@aﬁ]m@

srensHwiseiian somawbanLd QMRS D

‘ ' 5n@5a§]urraae1ﬂm TE &n;ﬁuﬂmﬁmmm aﬁlguga;u AT TS umﬂu@g,g_ﬁmn
@A) .

1gM,2 3, 4&rﬂurrm@c9ma)

-1 mm@]m 2 atrﬂu_lrrmg,] 3, 4 sflwreng, cgneua)

1 2,3 eflwreng) 4 LDL@LD &rﬂu_mém@ Digven

128.  Which of the following are correctly matched?

1
2
- 3.
4.
v
(C)

Foundation-of French East India company L S 1664

Establishment of English falling at Masulipatnam ' ~ 1611 °
" Foundation-of city of Culcutta : - T~ 1690

The first Carnatic war end in _ : o ' 7 1748

1, 2, 3, 4 are correct I (B) 1, 3, 4 are correct '
- 1,2, 4 are corréct' : - (D) 1 only correct

a\?gpa;Mmea;mﬂa) ereney g @un@@@ aemar@’?

1.
2.
.
4.
(A)
©)

" DEOP

NG TEre Hipddln AL o (heursd - 1664

@& 1 angsled cﬂ,ﬁ,rﬁjﬁ@mu LJGD'OTLBSEFWGE)GU ~1611
| BEOESST BHTLD g@eurra;a;uu@g,a) ©o - —1690
(g)g,a) HSH.I'_F)WLBSIJ @urrrr (y)Lq_m - ~ 1748 ‘,"
1.2,3, 4 s By 1.3.48f
1_,2,4&rﬂ o , | (D) '1LDI._®LE)&I'ﬂ :
50



E 129.

130.

131.

(A sarrrméilryau a_Aleven ard M iGUT GepeuTar STTamESND

‘When did B.R. Ambedkar embrace Buddhism as his own réligion?

A) 1951 o ' (B) 1953
© 1954 1956

aThs pema. B. R, obGugart LGS DEE®S s(pelamiT?
(A) 1951 . . (B) 1953
(C). - 1954 ' - N (D) 1956

The most sig'niﬁcanf programme of Sangkrit learning has been thé scheme of
() Mimamsa - (B Sahitya °
(C)  Shilpa-Shastra M Sastri Chudamani

soevdl(ms Giomgf Gumr'rété]ésa;rrles q;’guu@gg,uug_ S hisefle @é;é?iu_n.brrarrg,j '
(&) | Boergm V(B) FrégEur

(C) ‘#]Gbu&rrefugc,lqrr I . ‘ | (D) &rreha;ﬁﬂ@;rrmmﬂ

Why dld C. Raja Gopalacham re-entry into pohtms by foundmg Swatantra party'7

\M Lack of opposmon to the congress party

(B) He did not like Hindi to be 1mposed on South
() He was concerned about global nuclear arms

(D) He wanted to promote the youngsters

@mrgrré] SLGUTSET &TIHS Gg;rrasa;g;g,n_edr &&HET asL_é]uﬂGmear gleu&d) LBGW@LD cgu;réiu_@_iaa@ mg,g,rrrr'?

A

S ® @g,észrasggleb Qb gmﬂu&mm THTBSTT

© ews Semi SpWS 2 HusHenw updiv SAbsener

D) Qe gewapapuiaemy saréGellss Hlaeardsmi

51 | B - .. DEOP -
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132. Which one of the following pair is net matched correctly?

(A) Constituent Assembly first meeti'nﬁg . —Dec. 9, 1946
M Nehru 1noved obJectlves Re301ut10n . -~ Nov.- 13, 1946
(C) I‘mai sessmn of Constltuent Assembly ~Jan. 24, 1950

- (D) Constituent Assem_bly adopted National Flag —July 22, 1947

&ggs;siml;euﬁ)@eb aTd grﬂ,mrraa@‘urr@gr;g)eﬁ]ebmm?
A)  erfueemoiy ﬁ\r‘rmmlgmuuﬂleh WD &EmLI_D  ~yabui 9, 1946
(B) Cnm (g)éaaiiu Cprasmger STorend 2ipflueenl — ‘I;_F)G).IL.DL.JF.T 13,1946
Airamu sepuule Garan( s '
Q) swHwueeiniy e &smuuﬁ]eh @i smiio  —ganeuf 24, 1950
D) céwe@muq e sepu Gl . — mOama 22, 1947

Qlamy.anil eTmé blaram mrer -

133. Originally the “Right-to Information” is the document of the

\l World Bank Report

~ Asian Development Bank
(&)  International Monetary Fund

(D) " Administrative Reform Report

“Becud Sl e fonis” aTémy eI (PEET (PSS CTs i@ LSND GHHSEI?
(A) ésua; cumld)

(B) . gyl auaniiéd uriid)

(C) sreuCsesfld spslb

(D) Hliteurs ﬁﬁgl@g'sg; SN &N

‘DEOP - R o 52.
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1’6;4. The case N.B. Khare vs Election commission of Indla is related to

{ Determining the qualification of the petitioner to challenge the vahd1ty of the election
and the president '

(B) Determine the Nationality of the citizen
(C)  Free are fair election '

D) " Filla Vacancy caused by expiration of term

N.B. snGg vs @sdlu Caigen <gpemeRTLILD &rény b eugpei;@ ergGean(h) Qgrrer%qgmeu_lg,ﬂ
A)  Gyurs saaer Cgige g@é\ Hener @Hss ellemeyd EIBTTmHES @@a;a;(ﬁmqu_u_lg,
N CE
(B) @uwsailar G e wmerid Ul
- (G) a‘rg,;i'ggll;r‘mrrm,ﬁurrmmrrm Carga upidl
D) ugel sreh (pigeyDDLSTE q;bu@ubﬁ&rrm AL gdHns Caiise pLis Canmeg

135. Veerappa moily commission is associated with the’
Administrative Reform ‘ (B) Judicial Reform
(C) Tax Reform (D) River water disputes in India

“eS7uL Qumiied” gamemuwiiene marun Qg L -eleisrron
(A) ﬁrreu e Sifmssn - (B fdmep Erdossd
© o Siflopsn D) @pdurean pf § flases s

"~ 136. ‘Vify\ one of the following pair is not matched properly?

Inter-State council = . o . Art. 261
(B) Administration of Scheduled areas and trlbal areas  — Art. 244
(C)  All India services - ' — Art. 312

- (D) Administrative Tribunals - - — Art. 323 (A)

&@a;sbb'r.l_,@[b@c;b araney #fluines Quﬁ@b§@9®®m?

(A) LDH@GD@E;@&S@ @GIDI_GUJVUJTFGUT o endled v — Art. 261
B  Llquepn opmb kGG LGS Hiaursd - — Art. 244
O wfo @pdu uanfisd o - —Art.312 -
D) Hreurss _ﬁr‘rﬁlurrm‘ru_n.b ‘ — Art. 323 (A)
5 : 58 - DEOP
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137. The ¢oncept of Rule of La.w means
' 1. . Absence of Arbitrary power
o2 Supremacy of Parliament
3. Equality before law -
From the. above select the correct answers :

(A)  land?2 L T (B) -2 only

M 1and3 (D) 3only

Lg L gdlarr o1 8 eremD HHESTEELD 2 GRTTEFI0US)
1 g;smsaﬂ&ewu_lrrsm @15]85[”]'{.0 GTGOILIG @wwnmeﬁ]@uu@ |
2. 2 urrr;rr@mamg)g,g;]m @msué]a;nr;g,emg

3. FU L GHer (et Dienenau(Hid FLOD CTELINS

HGLDﬂ')GiéﬁETI_G}_!Ij]ﬂS]Gﬁ]@‘IﬁQ #8liman u(&_ﬁebassmmg Gamh 0 H(H&sey D

A lopgo 2 o (B) 2wl Hid ‘
€) 1lodmb3 o (D) 3wl@w

138. The Anta- defectwn law was mtroduced by the Amendment Act. .
(A) 42 Amendment Act ' M 52nd Amendment Act
(C) 62" Amendment Act : - (D) 720 Ame ndment Act
sLEGgeua0 senL. LD % FLLG @@gggﬂmn@ ng')u-ll;pgj‘ :

o (A) 42 augy 5]@55& sl - (B) 59 ng,J Slmsss s LD

(C) 62 cug) Sl (hGEF LD ¢ - . ' (D) 72 eugy AwESS FL1D

139.. Who said, “The Constitution-of India was framed by ransackmg all other Constitutions”? |
' (A) Pandit Jawaharlal Nehru . (B) Periyar E.V. Ramasamy
W Dr. B.R.‘ Ambedkar (D) Tvor Jennings

@rrﬁgf;hu ag&mmuq gL oreng; 9 aq&mmuq F L risaila @@jb@j @Gmgpmrru; Qmuu_luuu_g;j G‘I'Gtﬂ

B'nQS]U_IGUIT _ S S
Ay vemgl gmgmrrsurrsu CS{_r;@ _ (B)  Quflwumi Qe prnsmd
(C) Dr. BR. oubCGugart - S S (D) gGauit menafltic J
DEOP o , - B4 - o



140. Which of the following pair is not matched properly?

Parts Subjects

VI o - - Union territories
® IX " _ Panchayats
(®)] X‘VI_II' = ,qurgency provincés )
I XV' " - Eléctibns ' |

EpsaT_aunmles erenau shlwns G T(Hh&eHldene?

Parts Subjects
W VI L yeud QyCasriser
‘ (B) | 'IX S - u@&nu;lggué;esw
S (C)  XVIII - oesyHlee LR
™ XV - Gpigoser

141. ‘Which one of the following statement is not correct with regard.to the powers and functions

of president?
{A) Président shall address both houses of parliament
(B) Pres1dent has right to send the messages to houses of parhament

\V President shall have power to preside over joint s1tt1ng of parhament

(D)  President shall have power to summon or prorogue the councﬂ of states

@qu.n;rei Seneau fr @{élesm;ru:; Qgm_fimen T QJ[T;&;LB SEUTY ETE a;(njg)L:_lu@&]g)gu?

(A  BLuls g,séa)aufr @U@m@‘g{c@muﬂ@m 2 Gor 'nSla;@g,g, (tPlq. LD ‘

B) Bywrs FEDEUIT pﬁLW@LﬁGﬁTéﬁ;ﬁGﬁT @ e e';{mm&;@ését_b @Eu'_lﬁesemérr SjaylILplg LD
- (@)} {r_r)iﬂ_rr@msb{g) L (H &LILL;;‘EE}@‘Q}HI_GQ')U @I;q_u._ll]& FENEEUIT HEDEEDLD g,rrré]eﬂ BL&& (Lpig.LL|LD

(D) mﬁﬁmﬂ&m@m@mﬁ]eh gl LD bLga b Hmibd @g},ﬁmmé&&mm GL s BEDOGUTTED (Plg D -

o ‘ | | 55 R ~ DEOP
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142 The Art 21 and 21 A of Indian Constitution ensures ‘ : : -~
7 1. Right to. Life and personal hberty ' |

2. R1ght to Health

3. . Rightto Food
4, Right to Elementary Education : :

(A) land2 . S (BY 1and3 .

© 2zand3 W 1anda

Bpdwu @mfuean'F sii_sder 21 whpmbd 21 A opflu syssissar Epssam_ aps o fMaosamer
CuamiausdeE 2 sdneunsioaliédenpean?

1. 2 Wit eurpaugperar 2 Mavie HmD gjsbﬂuuLL &sBETD

2. FEMSHTTHS DETer o feno o
‘3. ' &Gmaﬁ]ﬁ)ssfreﬁr 2 fenin .

4 Aig LI 0l b seveildsmer 2 flaio 7
(A)  1whmb? | B Loppnd
©)  2wppb3 o D) luoppbd

143.. Second plan strategy was decided on the advisesof- .
(A)  Prof. Pigou . - (B) Prof. Malthus .
Prof. Mahalanobis - (D) Prof Adam Smith

@UWLW@J@ b e () QLLLD @m Ugﬁ =2, Coomsenemuiles <§|EQ 2 (HeUT&SUILIL L g
(A Gupm G S 3 (B) G, DT SE ‘
(@ Gugr vaoreeniey - (D) Gun, < 1h eullE

144. Whlch among the followmg States is c0n51dered as first in fully Orgamc State? .

(A) Nagaland : W Sikkim
. (C) Punjab = . . (D) Hariyana

<§|€Qa;a;mrL Lo Bleori seid srg,} (PpRUGID @umm& 27" {organic farm) ng@ﬂemua mnﬁ\mmn&

sHsUIUHE pa , , _
(A) g;rra;eurrg;@ ' ' (B) @é;aﬂLb
(C)  uegssTl (D) epfwrerr '

DEOP o se | R



145.

146.

Green revolution increased mainly the productionof

1.
-2,
3.
4.

(A)

{9’ﬁ&mh - | (D) L2 3and4

L& Ll & p&Slunts @g;sm aﬁ)ug@ému_n .gﬁgsrﬁuug,j

1.

2.

3.
4.

@
©

- Maize

Bajra
Wheat
Oil seeds .

1 only _ A _ (B) 2only

CemeTid -

SibL

G&;lfgﬂsmm

cram@amriis 68 &g
1 o0 (b | I ®) 2uipn

3LD|'_®L'Q ~ Iy 1,2 3wphmwb 4

Percapita income means

(A)

B)

" The total value final goods and services produced during the financial year

Total income

v National Income/Total population

- (D),

NNP

ST GU(THLOMEUILD 6T UL

(A

(B)
(©)
(I

I co,m0mig. 6D 2 HuSE Geng) (yj‘Lq_éS:SSIA_ILjI;I_ LIGHSTL_ 6T Lpﬁ);mn_b'umﬂ&dﬂsh Quorgs wHiy

Gwrgs Gﬁ@wrrﬁmm

- BrC( a_l@mrrsmi;/ Quords sser Herens -

By Cosflw 2 pugd (NNP)

57 A " DEOP
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. \ .
- 147. Which one of the followmg commlttee is related to pubhc sector disinvestment?

(A) Narasnnmam Commlttee '({ G.V. Ramakrlshna Commlttee _

_ (C)' UI‘Jlt Patel Commlttee | (D) Jha Comrmttee

£Cip Qar@ssuul Leeusells QUTEISEI®D apwsen elwsad QST_iLmeT g ag?

(A mrflbwb &by ‘ . B g].aﬁl.;qnmaﬁ]@dg,mrrasﬂuq_

©) ol LGLD sy _ D) sorf &Ll 1g

148,  Which of the following is/are origﬁ'nal aim(s) of,Interﬁatidha] Monetary Fund?
| 1. .To promote Internationai rﬁonetary cooi)erétion _ |

2, 7 To rfacilitatg f;he balanced growth of Internationgl trade

3.- ~ To promote excharllge. stabﬁity_ ' |

S_elecf thei correct answer ifsing the code given bglow. o

(A)  1lonly ' "2 only -

(C) 1and3 S aﬂ’1 2 and 3

éreT_ () uent HFuden o amanwiren CHrasn

1. ule.;if;smrrlj_@ Lemr @'@@ﬁ@sﬁo‘r&éﬁu CBLDLEQ@@@@GU

2. e;cr‘flsLD us&rsm&L@ GuiTemfiL @mr’ré&]ézé gg,@g)sb

3. ',bﬂ@cvmm‘wrrm cflssms @mtbu(aé@éﬁb

sflwimen Qﬂ@g@mm Csfray Q&u'_laa.

@ teiee - B) 2wis

© 1wpmn3 ' O 1,2 wpgo3
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149.

150.

- 151,

Consider the following statements :
Eleventh five year plan period

1. Women, child sex ratio for age group 0 —.6 to be raised to 935 by 2011-12 and to 950
‘ by 2016-17 ‘

2. Ensuring that atleast 33 percent of the d_lrect and indirect beneﬁmanes of all
: government schemes are women and girl children.

Which of the statements given above is/are correct?
(A) 1lonly : S ‘ (B) 2only _
- Both 1 and 2 _ . (D) Neither 1 nor 2

EpsasamL sphenm asmeoﬂaaa;

LBGenpasg EbETETE HL S

1. GueRr whmith @me,&,&aﬂm Gﬁlélg,rracacrrum 0 wge 6 auig eueny o @rer @%pg)mg,ﬁmﬂm
areimantlGens 935 <45 2011-12 suaimiqgd 950 46 2016-17 - 2 wiThsg.

2. orfan S miser @mmg}g,ul_acm 33 ggellfl g Gppl;rtq_u_lrra;Gam mmg)qp&;mrra;(ﬁsurr Gt e
WOHDILD @xc_prrbmg,a;@a;@ Gumi Gsreueng o mid Qelarg.

Guwlen Gla;rr@a;a;ul_;l_(amm Sadded ergy sflwimang)?
A) 1w Go | (B) 20l Gb |
© loppn2 D) 1 @doe 2Goma

In which five year plan period the National Development Councﬂ was set up‘? :
(M Flrst Flve year plan _ (B) Seconc_i Five year plan
(C) -Third Five year plan (D) - Sixth Five year plan

a1 mipsrar() AU L sresHd Gafiu aparGarpn seL @SS ILLL 57
(A s mpsram( Hib : B) -@urewLmb mhsrerr( b
(C)  epanpmbd gpsTeRTH HL1b (D) PTG BBSTEN D LD,

: The period of Ninth Five year plan was

(A)  1995-2000 - (B) 1996-2001
' 1997-2002 - (D) 1998-2003

| PETLISTELS) gpgnm@ S L Fdlem Freoid

(A)  1995-2000 (B) 1996-2001
©) 19972002 (D) - 1998-2003

59 S - DEOP
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152. Assertion - : - Moplahs rebelled and started a Gureilla war. They ‘committed terrible
o a atrocities against the administration as well as their Hindu neighbours.
'Reason' . Hindus started a Shuddhi movement under the lead of Shraddhananda

. (A) Assertmn 1s wrong Reason is correct
Assertion and Reason are correct but Reason does not explain Assertion

(C) .  Assertion and Reason are wrong

(D)  Assertion and Reason are correct and Reason explains Assertion

H(HES : 0 on@dor  sppsgdent  Qerfloom  Gumenr Gm’a;uﬁ]@su@g@és QamaRTLan.
ol Flumemiaens @i a@&nmmuﬁ]sﬁ]@@g @;5@5555@5;@&1 grrrm@asrr@‘rrr Gumasuﬂ]eu
Qar@rors Qa;rr@eml.n GeLganT. :

53rruent‘rrLb | o Esd Qussin muggnm@gn gemumu)uﬁ]m) @gb@;asa;eﬂrrm) Q{,ULDIEI]BSBSUMLLQ}
" (A) Sl seuml sryeuh il .

(B)  smsmb srremplh Fil %GMFFGU BITELD &(HES aﬁ]masgeugrras &GU)LDLLIQS] engy
(O Fmsgib a;rruém@l.n seum)

(D) ‘ 5®§@m STTERT(pLD Fil. STTaRD a;@gmg aﬁlma;@é]gj@

153. In the March 1977 electmn Indira Gal’ldhl was defeated at Rae Bareli by

(A) . Jevaprakash Narain , A(B) YB. Chawan
Raj Narain . (D) Moraji Desai
womiré 197700 @J,@W@ Calisedle t@‘m}gﬁlun Shd) @{mmmu_mrr Tl u@u@ﬁ] @gn@ﬁuﬁ]w —_— %ab
Gamheiq SEUILL LI, '
(A) Goulysney ggnrjnu_jeotrrsh ' (B) - Y.B. '29=surra_s'm

() TR GryTween. . M) Weomymsd) @{E;r;&rru]

154. Birsa Munda 1ed‘a revolt in the -
-{A)Y  Malabar region R ‘ \( Chotta Nagpur regmn
{C) Bengal region _ (D) -Mysore region

9irEr (pesrLm-apéneflenml B g Sl l_ml__s-ﬂ g;mt_Qu;Dm @b , .
A weurtugd - _ (B) (S&rrL.L.rr BrELT LGS ‘ -
"(C) eumsmen) L@ES ' o : (D) - aweTuGd
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156.

157.

[

155. The first Vernacular Daily from Bengal was

(A) = Yugantar . . ¥ Samachar Darpan
(C)° Sandhya | (D). Bandi Jivan |

m@&nwgﬁcﬁ](g‘rﬁ@ Qeuafleups (pse grru'_ﬁG]LDrn:.Q El‘!’GﬂﬂgE@
D) wspst ‘ ' (B) swrismm giudn

C©  spdur (D) upd e

Which of the pairs given below is / are correct?

1. Maulana Azad —  India wins freedom

2. Lala Lajpat Rai — Hindu-Muslim Unity .
‘3. Balgangadhar Tilak — Gita Rahasya

(4 iand3 B) 2and3

(©) land2 | AP L2and3

EQup @a;ﬁ@ésm'_lul'_@ﬁm Bamansefia sfuiraeal arg) / aTanan?

1. QDETETETIT Y &15 —  @sFwur ssHHTD @ug)n_b‘ ‘ - ‘ 7
2. ereronud rmi — @ﬁ@—@dﬁe&b SHmeLw -

3. LTS BIETET-Hevsr -— &5 raflun - ,

A lopgs3d . ®) 2 wimn3

©) lopgb2 - P (D)‘. 1, 2 opmb 3

Who was the First Muslim President of the IndianNational Congress?
(A) Muhammed Ali Jinnah® Badruddin Tyabji
(C)  Sir Syed Ahmed Khan (D) Abdul Kalam Azad

@Eéﬂ”—' @Seﬂu ‘SWTE"JQUGGGBT (PFeD (g)du63® Senevou W?

@) sy o6 fdvart - ® usEHasurdy

(C) . & asU1IE HASDE) GTe o (D) suge SaOTD SpFTE

61 . .. DEOP
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158. Find the sum of ﬂle arithmetic series : R A
_' 5+11+.17+,...+95_ 7
(A) 750 - : M 800

©, 80 o D) 900
5+11+17+....+95 cramp sl AT Mt s [HB et
(A) 750 ' | . (B) ‘800

(©) 850 | (D) 900

' 159 If the sum of two numbers is 256 and their difference is 18. Then find those two numbers?

A) - 156,100 - (B) 110, 146

M 120, 136 | (D) 118, 138

Grem() sramsefian sabhze 256 sauplen elgHumsd 16 srafldr iceliyem (B orahraemens Smaws.
(A) 156, 100 | | (B) 110, 146
(© 120,136 : (D) 118, 138

 160. In a class of 20 students, 5 students have scored 76 marks each, 7 students have scored'

77 marks each and 8 students have scored 78 marks each, then ecompute the mean of the

. class. : _ T ‘
(A 7151 o y{77.15

(C) 177.10 - (D) 77.01

e agoda 20 wrereuisdr e dreret. @auisErar 5 Lb_rrsmeufra;eaiﬂr.g,s)fr 76 wHUGUTSEHD,

7 orewmaisdr sor 77 odOQuansEsh, 8 wranwisdar gor 78 wHLAuaTsEsd dubpeTaTen.

U@ILF &r}rrsrﬂ Loﬁu@ue&n%a;neﬁsa;. ‘ o - - ' *
@A) 7751 | - S L®) 1115
(© 7710 | (D) 77.01

DEOP-‘_ e o - s
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161.

162.

163.

©

The length of a string between a kite and a point on a ground is 90 m. If the étring makes an -
angle 6 with the level of ground such that tan & = 1—;, how high is the kite?
&) 9m ' ® 80m
79.41.m ' . (D) 804m
R SETDDMGEGD g,mlju_fﬂsb D_GTET 6p(1h Qd‘rﬂﬂﬁ;@.’o @en CGui s L U0l L sulHiden Hemb 90 5. @tr_'r,g,
'éBu_CI]QJ g,mr;ml_l_g@L_m tan 6 = 1—85- GTGar éIGDLDU_]LDrTQJ Camemr coqsﬂeq (6) @'gpu@g,gja%]g)gu erafled
STHDITl. gmquﬂe&@m@ srmeumeq &u.nrg,ﬁeu e Grang? .
A 798 | - (B) 805
©) 79418 S (D) 80.4.8
Find the probability that a leap year selected at random will have 53 Fridays

(A)

2
)

(D) 0o

~1|w 3|

¢

UML) (ymn,rpu.‘ﬂa) @g,rrp@g,@a;a;uu@m G](l‘_F)I_I_I'I'mTLq_GU 53 Qeua'rmﬂa;eﬂ%pmma;m @@a;a; ‘r_ﬂa;lc.pg,aseq
SIS _

@), ®)

-1

~1jww =1

() . ™ o0 .-

“

The average age of a family consist Father, Mother and a Child is 20. If after éeven yéars
the age of child will be-11. What was the average age when one day before the child is born?

M 24 . - ®) 20
18 . (D) 16
ghens, STL wHmb Gobans HCuremrs Qasmam_ @@mugﬁm srmEf euwg) 20 TP @tbmnq_g)@
sS]gD@ @gp(lbmg,uﬂlsm e 11 erefled, GLomhens SpLILSDHE LpSeD BreT Frrefl auwig orenar?
@) 24 | , (B) 20
© 18 e (D) 16

‘ e | - DEOP
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164. E'\rer green forests formed in ——-——— regions.
(A)  Semi-Humid Region ' M Humid Region -
(C) Dry Reg"wn - ' D) Desert Regwn

Ly Cragdld LisenrDr SrHi&ar HiSors P WY
(A wer-rriugd \ﬂg@g,&@&;@h_ ""(B) (o (WINEC N Qg@g&rﬁj&;m ‘

(O mﬁ)ezﬁm_l_ UGS wwg ArCssnisatia (D)  ureneveua ﬂu@g&@éaﬂ@ .

165. - 0%0f25%0f201sequalto a | _
4/ 1 <« \ | (B) 10

20 - D). 25

206 25% dn 20% erantisein ey
Wy T ® 10
©: 20 ) . D) 25 .

166. Dwya secured 46 marks out of 50 in Tamll 27 marks-out of 30 in Enghsh 36 marks out of

40 in Maths and 54 marks out of 60 in Science. In whmh subject she get more marks?
0{‘ Tamil : " (B) - English
(C) Maths . E ‘7 : ' (D écience

Seuwim g,l.&g@@) 50&5@ 46 m@u@umﬂa;@m %mﬁmgﬁw 30&@ 27 mﬁu@usma;@m FamTéd 4055@
36 m@u@umra;@m Sifleilwidd urrLgﬁsu 6053@ 54 m@u@ue‘w&;@m Glumprmi GI'GGﬂGl) SHEUT GTHGL
) um_g,ﬁeu é{@&; WA UE Liggr G]ugpg)mr’? ‘ o '

GV N ) s

H{C)  saweg o | AA M) eidlafwe
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“167. Find the LCM of the following x® + y°, (x* - y%), xt '+‘x2y2 oyt

W oy ey

© = x2P-y ' - D) x5+5°

" Qemau(meuceurhfe LS.@I_IFT.LD.:SSTTGD"GTSS L+, (P =), xt Pyt
@ Ly € I A

© -y BN

168. The HCF of 0.90, 13.5-and 15 is '

03 . ' ® 09
S © o5 D o
0.90, 13.5 wihiid 156 15, Q. wmgy?
@) 03 - ®) 0.9
© 05 . " o D) 0.15

‘ 1.‘69.‘ Fin-d‘therI.-IC‘F (orj GCD oflthe fr:)]_low‘in.s,ér : (xq ;xz +x _1); (x4‘—1)_
@  @-Dl-) C® -1

&#’(xdﬂf+ﬂ - D e )

Lﬂsh@@eummﬁ)@eh,ﬁ.Guw.m. 5rréo'nT.a;-: (x3 -x? -.Fx_l),l '(x“. —1).

@ -l ® (x+;)&251}

(C) (xl).(x2+1)-. N | (D),.(x+'1)(x2+1)_

A

o - | e . | - ' DEOP
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170.° Simp_lify: ¥36at(b-c) +2a (b-c).

Q) 185,3 (b-c)

smi@s : 36at(b-c)® +2a (b'w-c)g' .

[N

) 3:9:7.

DEOP S 66

®)

© sab-of Gl

(@A) 18¢° (b- o) ®)
(€ 3a(b-c) D)
171.  Simplify: 22-31+6%.
o o ‘ @
© 64 (D)
H(HEGS - 24-31+63 '
@& 61 (B)
© 64 (D)
172, 1f 2:E; ézéthen a:bicis
b 4 ¢ 7 _
A 15:20:2 - ®)
© 3:9:7 (D)
%:%;%:g—a@ﬂab.a:b:c&rm;ﬁuq
(&) 15:20:28 By
(D)

3a (z; —&)4 :

3a (b - c)4 |

3a (b w‘c)ﬁ :

[=2]

s [

ot
e jos

j=2]

0o |

[}
EN

-12:20 : 21

6:8:9

12:20:21
6:8:9



173. A hemlsphencal bowl of radius 60 cm 1s f111ed w1th soap paste. If this paste is made into
¢ylindrical soap cakes each of radlus 6 cm and height 2 c¢m, how many cakes do we get?

(A) 1800 - B) 1825

(©). 2100 - | Mzooo

60 Qa.18: écipmbl@a;rrafm_“@{muéﬁasrrm qu.@;l ungﬁng(éﬂ@ fleopw Gsmiys smip o 6rengl. =iseern
6 Q&S =yprap, 2 Ge.S 2. urps Qe g@mm aulgeu Camlys 5;1_Lq_a;cswrrss @&u.:gjrrc;u GT‘Q')QGE)GDT'

Gemiys sliqedr San_&@Eh?
@A) 1800 - - (B) 1825
. © 2100 | E © (D) 2000

- 174, A brick measures 20 cm x 10 em x 7.5 em. How many bricks will be ' required for a wall
. 20m x 2m % 0.75 m? : ' S :
(&) 10,000 - (B) 15,000
20,000 _ D) 25,000

@@@&masaﬂema{mm 20 QF. 5. x 10 Qs 5. x 75 @& LS 20L8x 2 L8>< 075 Lﬁammmm&mn
S_{Heus @ erssenan OlFm sHaem Gg;mmuu@m? .

(&) 10,000 o B 15,000
(C) 20,000 ' (D) 25,000

L

175. The total surface area of a solid right circular cylinder is 231 cm?2. Its curved surface area is
two thirds of the total surface area. Find the radius and height of the cylinder.

V'r=3.5cm,h=70m . (B) r=32cm,h=T7cm
(C)y r=35 cm, h=6cm _ D) r= 3.2'cm,h=6cm‘
&1 - Hlatmo C‘él[r)rrem_l_ a@mm@m Quomssl yoILFiy 231 . G&LS i eusmmulruq G&Lorrg_r;g;
LpULTGe apenfld @ran® L eraild Siger b wHHID o Lrbmss srans,
' (A) r=350s.8, h= -7 Q.15 (B r= 3.2Qs.85, h=17 @&.LS.
(©)  r=350s5, k=605 D) r=32068, k=605

o o T eT | | DEOP
: - : [Turn over



176. The ratio between the base radius and the height of a solid right circular eylinder is 250

If its curved surface area is

0 sq.cm. Find the height and radius -

J h=15 cm r=6 cm ' .+ (B) h=6cm rzlg cm
h=l4cmr=5em (D) h=5 tmr=14 cm

e Hewrn  Cricul L ‘&@@muﬂ@ ST 2 wpeptd 225 e eSdssH o danar. <3| et

&.6a.18 eraflen &@Gmmuﬂlsm 2D (DMHMILD JLTLD HTEHTSH

GUERETLILIT L
(A 2wrb-150Qe.d gmpd = 6 AL - (B) ;U_IUL;D = 6 Qe ccg,m -15 QE.LS_.'
(C)  2wgh=14 G5 gyb =568 D) 2wmb=5QsS gy = 14 Ggab

177. A cone and a cylinder have the same base area .and the same curved surface area. If the
' height of the cyhnder is 2.5 m and radius of the cone is 3 m, then find the volume of the cone

@A) 157m® B WIZJ’TTHS.-

© 36xm® ‘ (D) T5amt

g Salbuild, 5@@ &@sma‘rul.e eGr é{quuuuuﬁ e euenemupliuih GareRTLeneu. 2 (menemudler 2 Wiy |
2.5 15, subi9en %Um 38, eranfled gnlbLiledt Ga < a6y GTEeEn? '

(A 1628 ' ‘ (B) 1278
© o %6xs O 15z

178. Find the dlfference between s1mp1e Interest and compound 1nterest for a sum of ¥ 8,000 lent
at 10% p.a. in 2 years '

) T - | (f.f_so

© 0 : (D) %90

¥ 8,000 5@ 10% Y[MIPREF Th Gresﬂm @ire (b @rbm@\a;a‘ﬂea eﬁ@m;&;@u) ah|_® @Jl_lq_aS@LD g,eu‘ﬂ aUL g HGLD
2 _der eNgSHwnEsamnss STETS.

(A)  T70 , ' ‘ | (B)-'fso
)y T60- _ ‘ 7 - Dy THO -

DEOP . S 68 - . o



P79.  Two unbiased dice are rolled once. Find the probability of getting a doublet ‘

@y

2
v

(B)

D)

2

3

1

T @ Syren LsmLadr &(H (penm &@a_t_uu(ﬂa‘%]@’rmm erafled (_Lpa; TGO &I @GJ CTERT&HETIT S @@5&5

‘lﬁlealc.pg,a;m SIS -
1

A -

@A S
1

C -

©

_ 180. Find the odd man out.

M Centre .

(C)  Chord

| Qurbsns garop Garay Gis.
A ewwub |

(C)  mpmemr . -

181, "Rind the value of \/75+-\}33+\/4'+J% :

© 12

' -J75+ 33+44+4/25 —m@@uqmne&m
@ 9 |
€ 12

e ' . 69

(B)

)

(B)
D)

(B)

)

(B)

)

- ®
M)

2
3

Radius

Diameter

. <DTLD

e _Lib

10
13

10
13

DEOP
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182. Whlch country sc1entlst created world's first single chromosome yeast e

M China ) _ - . (B) Australia
‘ U

SA ' ‘ (D) dJapan -

ThE 5rr|_® eﬁl@@rrasﬂa;m &ma;g,gﬁ@su@u_l pF@Tag Ghay @(Bljrr@mrr@mrm Ga;rrasm_ rrerux_smL

&@eurra;éﬂuﬁl@a;ﬁmrrrra;m
(A) - & L B yagGreum
©) 'u.crciu.@' S (DY  sytiime

183.  What is/are the long term measures to solve the food problem

1. Increasing agricultural productivity and to increase production
2. Import of rice

' . . - f
3.. Stabilization of agricultural prices

4. Change in food habits of the people
Select the correct answer from the codes

(A) land2. - ' '(B) 2and3

©  sand1 . . _Ml?Band}l

2 GwTeY ﬂ]u&&smemsmm §,rra;a; BaisTL_Smeo g_&]ouo Grgu Jerenau?

L Geuarmamenw 2 piiss wpmb 2 Huss Apaen é@asuu@g@wel
2. @fld @péend
8 Gaermaimenw cleaider Haanin®
4.' DT 2 am1ey LIEESEE DrHHD @‘a;nm@'@@g,'m S | e
@@uﬁ@aaﬂm @@EQ} sfluman lenLeows Gg,rﬂeq G]&u.l&; _
A 1 *DH)@HDQ ‘_ ' ®) 2 LDM*D3 |

(C) Swpmibi - ™ 1.3 Log)gjLo 4

DEOP . T R | : o



184. The recommended nutritional inﬁake per person in Indian miral areas

185.

186.

(A) *© 2000 calories . o (B) 2100 calories

()] “ 2300 calories ,:l ' MZéLOO célories- '

@ﬁ)@um% Anmrogisatle Eéﬁm awm‘«;r@ésgf% '@g;m@m améﬁ ———— aan ufipgiony
@g@uuQL®mmg | | | | | A

(A) 2000 sGoorAser - . .(B) 21003;(3a>r|rrﬂa;511_\'_- : .

© 2300sGanfser - (D) 2400 sGanfa '

Which dlStI‘lCt has the lowest child sex ratlo'? (As per 2011 census) )
(A) Madurai o . _ _(B) Them . | S
" Avyalur BN Cuddalore -

2011 aser Qg,rrc;ma; a;smaa@aa@,ulfﬂsﬂ L THS mnml_l_g,ﬁa) @Q[_F,Gng, urrGSlGoT aﬁkﬁgsﬂ&rrum G@DAUTE .

’ amm@ A .
(A)-  wgeny B - ‘ ‘ - B) _G’gsﬁ
_ (©) _ <=Ml : . - (D) Fo L QU

L

P.radhan Mantri Fasal’ Bima Yojana was la_,unched for implementation from Kharif

2012 B 2015
‘f 2016 o (D) 2013
Aiygme LD‘!'_F,‘QC;]I'ﬂ urréﬂa) S Gu_lrrgsmrr S Lib sﬁ]@mrrufﬂa;aﬂem @m@mﬁ)mg@m@ ———; N ICI
Qamreir(H) euplicL.g
@& 2012 . (B 2015
© 2016 e (D 2013
. ' DEOP

.. [Turn over



187. Which of the followmg space craft is launched to miercury 1n the year 2018? ‘ S

{A) "Chang'e 4 S MBepi COImeo
©' GSAT-7A . . (D) Hongyun

Hemeuhid elamaanisaiie crg) 20i-8—c%Lb Dl,TIq 60 Ligam A rasSnE é{@uﬁﬁul'_l_gj?
(A) &nréjrésl "G 4 . . . T (B) GQuib QereonGur

© gor-TA D) Geprhgen

188. Which of tﬁe following Islands are of Coral Origin?
1. . Marshall I_slands ' - |
2. ReunionIslands .
3.  Maldives Islands.
4. Maﬁritiu\s-lsland
Select the correct answer from the code given helow V:

(A tland2. 0+« (B) 2and3

(C)' 1and 4 ‘ : . . MlandS

.I_CI]G'DTG]J@LB ﬁmasaﬂﬁ) &Tg) LIeuaTS ,§,a.| ‘ .

I tonis Sy

2. fyeallwen Sy
3 wiessey

4, @mrrh“"eﬂmem &a
) ﬂemeuqyw GduIGasaiia Qbg sflurar efemw Ggfley Cﬂenuaa

@ lepgn? ® 2 uwhpod3

© Topgod , @) 1 oppn3

- DEOP . | 72 R o



389,

190.

191.

Consider the following Pairs

1. Chambal -- Narmada

2. Sone — Yamuna
3. Manas—Brahmaputra

Which one of the pairs given above is/are correctly matched
(A) 1,2and 3 o (B) land2

© 2and3 Momys

&Gip G]a;rr@é;a;uu_l'_l@'mm D,LMFHET — T GG <, 15 6T 6D GT.gl arﬁu_lrra; @Qn@ﬁﬂm’d‘rm@ :

1. &_Lb.i_l 60 [BITLOGT

-2 GGFFG.UT*l.LI@GNFI'

8 emev-Gpbousgsm
@ 1Lowpge3 - (B) 1iopmib?
©  2wpg3 : D) 3wl @b

Who won Gold Medal at the 17th Asian Games in the men's Hockey final?

W India : ' (B) Pakistan

(© Bangladesh E ' ' (D) None of the above -

- 17 eugy 3w aﬁlmmu_lrn_@ (Surrl_Lq_uS]GD %Gma;m apréH Gitm_iguld grisLd G]@_lsmmmrr wrrr?

(A) @pﬁmn : _ (@B - urdlengmen

(©) uhisenGgen N g - - D) @mm&_gﬁ]m GTEnEUIL| LD @Gbangu

"BRICS nations adopted the New Delhi Declaratmn is related to

(A)  Social awareness (B) Equality -
(C)  Health | , o \(y',Eduéatioh

Af&en BrE&ET erpms Cameii GLded ﬁ]gaLémm @grn_r'rqsml_u_lg_;

A Fops el iLemTTey . '. (B) swsgeud

©) &L_GI"DI‘!'_F)GDL'D ‘ , ) (D). Soveh

73 DEOP
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192.  In which year National Highway Autbority of India was set up?

(A) . 1993 | L (B) 1990

M 1995 | . (D) 1985

g e Qndu Sadlu Ap{Hgserama %@mum (=il epowib) Bl L g?
(A) 1993 . By 1990

© 1995 . . (D) 1985

-193. When was ‘the practice of barring. the entry of women devotees in-the age group of 10 to 50

years into the Sabarimala Temple in Kerala declared illegal by the Supreme Court?
(A) - August 2018~ A M September 2018

(C)  December 2018 (D) October 2018

@a&rymn@ﬁ]eb gmmﬁ;@m«m &usﬂmmmu_(ﬂeb 10 wse 50 eiwg euany o drer Guemssr suflbana

Camelland@er CFha senL @@mgmg L 550 L{g)murr@ﬁgj Gr@ﬂgu o &y E;@LDGN@LD Gru(;]urr@gj

gnuumﬂgg@
(A aysevi 2018 @ Qstioui 2018
(C) igsibui 2018 | C D) =éGUmIt 2018

194. . The head quarters of the Association of South-East Asian Nations (ASEAN) is situated in

Smgapore - | (B) Malaysia -
M Indonesia (D)' Myanmar - -
Qg,ehé@é;a;rrﬁm wrHseflen gl eowiiu ném %ﬁmrreoﬂém FENEENLLISHID DG BSIETET B (H
(A_) CALAEIRTHG A (B) LD.@Q)G@U_JW

(C') @ﬁ@gn@éﬁr@@ wr o ' (D) Swrenoi

-‘,'DEOP o - : 74 _ ' - e



195. Match the following -

196.

Party , - Symbol .
- (a) Biju Janata Dal 1. "Plough
(b) Shiromomani Akal Dal 2. Bungalow
(¢) J.K. National Conference 3. Conch’
- (d) Lok Jan Shakthi Party 4 Scales
@ ® © @
3 4 1 2
®) 2 1 3 4
(Cy 4 3 2 1
O 1 2 3 4
Qurmsss
‘ BSLAﬂ ) . Fleemd
(a) ﬁg{gv METFT FEND &4 1. eFfigeian
(b) - AGrrCwmest o &Ted geﬁa;l;eﬂ' 2. wreflens
(©) eabupsraydi Caflu wrsm B s_& 3. FHI(S,
d)  wasdrman s sl A 4 s
(a) (b) {0 (d)
A 3 4 1 2
B) 2. 1 3 4
€ 4 3 2 1
@) 1 2 3 4

Advocate Abarajltha was appomted by the Supreme Court to ASS1st in the case relating to

R
®

(&)

Chﬂd Abuse Issue

Labour related issue

. Environmental issue

W Air pollution issue

&5&;‘5@ DG SHT 0 ﬁu_lLﬂBSBSLII_II_L QUL &EDIEHT équr;rr&ﬂgrr &g@fﬂ Q&u_lu_l Geuammgiu  6uLpHE
Qzm_ientw efleusmrb - ‘

@)

- (B)
(©)
D)

GpHn S&HET @JGNI—@:E’:E’U'—'@LD Ifﬂmmsm

Qgmploreriser Ggmmye w Srésamen

SHOIELPE QFT_TL e Sy &gene

&SMHD) &L 1 Qerfunet Grsseen

75

DEOP

"[Turn over



197. Consider.the followiﬁg statements : ‘ L _- - ' ; ' X
1. . The con'ceptions.of Digdit’y a-re,pe'rsonal a'u‘t-oriloﬁ-lyland right to live digniﬁéd 1ife-
" 2. The Aadhdar is effectiver in fealisation of the range of sbcibfconomic .rights _ |
3. .Fundamental rlghts are more and above than the Right. to prlvacy
4. Aadhaar shall be the mandatory for the' requlrement for school admlssxon

¥

Choose the wrong answer

(A) Zand4 o V/ﬁl_only

© land2z . (@ Zenly

&Q&s&o‘rd ailgj)gjéaa;émm é@é@.ﬂb? :

1. saraflub éreirrug;dr{l Qurr@mrrsdgﬂ g,enﬂgur’rﬁ SEHETD  wHmID  saETeniiLLoTE SUM(LPLD

2. fMepowmE b ' .

2. é@a; Qugertgi o MeninaaT § rearauTeus s, ‘g’ blgeb uu.x@;ei'rmgj

3. - gafipuir é{iﬁg,u@a;rﬁi&@m ST @I g LILIenL 2. flenwadt apddluivreng) WopHmb @wwdmgﬁ
- 4. c@;bg,rrrr " ugerl G’Erra;ma;u_‘ﬂgjw ag)glu_:rra.lé]u_: S1eufiw C%g,meumrr@w |
| gaupren efleni_enw @gwm@ e (.
(A)l 2 whHmb 4 ' o (B) 4wu®w
©  lepgez o 3UL@LD

198. “Peace and Tranquﬂhty Accord was signed with China under the leadership of
- P.V. Narasimha Rao o (B) Atal Bihari Vajpayee .
(C) LK Kujral - ' (D) P.Chandrasekar
Femmey L anmen SienLog) LHmID Emng)rrem iHlanay @uu'r_r;g;m @su ifl ot g,meummuﬂ]m GDGSQUJ@‘Q}'QC;(I_UUI_LQ
Ay P V Brnw Frey - ‘ ‘_ B) o Semfl Gurrggl__Jrru_:

- (C). LK. @gggrre'u' . _' ‘ (D) P gpdir Coar
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199. Consider the following statement:

1 Poshan- Abhiyan Scheme is related to obesity

2. . The scheme was Launched in 2018

3. Itis the Holistic Nou'rishme’nt Scheme started in Rajasthan

- 4.  Started with the.-goal of'Regiéna_l development of India |

Find the correct _statement

4) land2 - . ‘a/zands

(C) 2,3and4 (D) lonly
ELpaetrL_ Gu:ré;a{ﬂu_lgmg &(HGeyLD
1. Gumairen onwimen S ib *&L_g')g@mggjl_sh QsmLiTyeni_wgs

2. Qbs Sl 2018 b e greussILL LG

3. el dadgy QamLiuner ap(pentnwimes Siib Frmevgraie CgrLmaliul L g)

4. @‘m‘éﬂmn QS euetiéfleni Grrdsorsds Qe () ) (TLE: TR TUNOW. T

sflwimen e méEiden g 556cbeLm_ﬁ

@ " lopgo2 S ®
© 23wpped D)

200. Nathula pass connects between the couritries of

(A) India and']_:"akistan - (B)

«g”? India and China D)

BT sawieuMis epenid Genamiuid br{Haer

(A) @‘ﬁ)ﬁmnmg’jg@unaﬁ%mgﬁm - | (B)

: (C) @BHur whon ﬁsarrr ' o (D).

-~

2 Bpmib 3

1 ol @b

India and Bangaladesh

India and Srilanka

@pdwim LlD,(j)Q]L'D_- WAL (6T

@bSlwr D@L L ekisT
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Read the following instructions carefully before you begin to answer the
' questions.

10. -

11.

12.
13.

14.

IMPORTANT INSTRUCTIONS

" You will be supplied with this question booklet 15 minutes prior to the commencement of the examination.

This Question Booklet contains 200 questions. Before answering the questions, you are requested to check "
whether all the questions are printed serially and ensure that there are no'blank pages in the question
bocklet. If any defect is noticed in the question paper, it shall be reported to the invigilator

~ within the first 10 minutes and get it replaced with a complete question booklet. If the defect is

reported after the commencement of the examination, it will not be replaced.

Answer all the questions. All the questions carry equal marks.

You must write your register number in the space provided on the top nght s1de of this page. Do not
write anything else on the question booklet.

An answer sheet will be supplied to you, separately by the invigilator to mark the answers. 7
You shall encode your question booklet number in the space provided on page 2 of the answer sheet
with Blue or Black ink Ball point pen. If you do not encode properly or fail to encode the above
information, action will be taken as per the Commission’s notification.

Each question comprises four responses : i.e (A), (B), (C) and (D). You have to select ONLY ONE correct
response and mark the same in your answer sheet. If you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
answer sheet. )

In. the answer sheet, there are four circles (4), ®), © and @ against each question. To answer the
guestions, you have to shade the circle of your choice (ONLY ONE) for each questian with Blue or
Black in Ball point pen. For a particular question, if (®)is the correct answer, you have to mark your

answer as below; .
' @000

If you mark more than one answer for a question, the answer will be treated as wrong.

You should not remove or. tear off any sheet from thig question booklet. You are not allowed to take this

question bocklet and the answer sheet out of the examination hall during the time of examination.

After the examination, you must hand over your answer sheet to the 1gv1gllator You are allowed to
take the question booklet with you only after the Examination is over.

You should not make any marking in the. question booklet except in the sheet before the

last page of the question booklet, which can be used for rough work. This should be strlctly
adhered to.

In all matters, the English version is final.

You have to write and shade the total number of answer fields left blank on the boxes provided on side

2 of the OMR Answer Sheet. An extra time of 5 minutes will be provided for this purpose. :
Failure to comply with any of the above instructions will render you liable for such action or penalty as
the Commission may decide at their discretion.




